

March 8, 2012

VIA FEDERAL EXPRESS

Attn: James J. McNulty, Secretary
Pennsylvania Public Utilities Commission
400 North Street,
Harrisburg, PA 17120

RE:

**ELECTRIC GENERATION SUPPLIER LICENSE NO. A-110156** 

PROOF AS REGISTRATION WITH PJM AS LOAD-SERVING ENTITY (LSE)

In accordance with the letter received from the Pennsylvania Public Utility Commission (re: Docket No. M-2010-2157431), all licensed EGS that provide retail electric supply must annually provide proof of registration as a PJM load serving entity (LSE). GDF Suez Energy Resources NA, Inc. ("GDF Suez"), as a licensed supplier in the State of Pennsylvania, submits it proof of registration with PJM as a load serving entity (LSE). Enclosed is Suez's *Reliability Assurance Agreement among Load Serving Entities in the PJM Region*.

If you have any questions or require any additional information, contact me at via email at Naveen.rabie@gdfsuezna.com or at (713) 636-1607.

Sincerely,

Naveen Rabie Counsel

RECEIVED

. MAR 1 3 2012

CC:

**VIA FEDERAL EXPRESS** 

ATTN: Kathleen Aunkst, Secretary's Bureau Pennsylvania Public Utilities Commission 400 North Street, Harrisburg, PA 17120 PA PUBLIC UTILITY COMMISSION SECRETARY'S BUREAU

PJM	Interconn	ection,	L.L.	C
Rate	Schedule	FERC	No.	44

## RELIABILITY ASSURANCE AGREEMENT -

Among

## LOAD SERVING ENTITIES

in the

**PJM REGION** 

K:\pjm\Current Effective Agreements\Stripped Current Effectives\PJM RAA Among LSBs (Rate Schedule FBRC No. 44) 5-28-2009.doc

## RELIABILITY ASSURANCE AGREEMENT

RELIABILITY ASSURANCE AGREEMENT, dated as of this 1st day of June, 2007 by and among the entities set forth in Schedule 17 hereto, hereinafter referred to collectively as the "Parties" and individually as a "Party."

#### WITNESSETH:

WHEREAS, each Party to this Agreement is a Load Serving Entity within the PJM Region;

WHEREAS, each Party is committing to share its Capacity Resources with the other Parties to reduce the overall reserve requirements for the Parties while maintaining reliable service; and

WHEREAS, each Party is committing to provide mutual assistance to the other Parties during Emergencies;

WHEREAS, each Party is committing to coordinate its planning of Capacity Resources to satisfy the Reliability Principles and Standards;

WHEREAS, the Parties previously have entered into similar commitments related to sub-regions of the PJM Region through the East RAA, the West RAA, or the South RAA;

WHEREAS, the Parties desire, on a phased basis, to replace the Bast RAA, West RAA, and South RAA with a single reliability assurance agreement among all Load-Serving Butities in the PJM Region; and

NOW THEREFORE, for and in consideration of the covenants and mutual agreements set forth herein and intending to be legally bound hereby, the Parties agree as follows:

RECEIVED

. MAR 1 3 2012

PA PUBLIC UTILITY COMMISSION SECRETARY'S BUREAU

Issued By:

Craig Glazer

Effective: June 1, 2007

Vice President, Federal Government Policy

Issued On:

September 29, 2006

#### ARTICLE 1 -- DEFINITIONS

Unless the context otherwise specifies or requires, capitalized terms used herein shall have the respective meanings assigned herein or in the Schedules hereto for all purposes of this Agreement (such definitions to be equally applicable to both the singular and the plural forms of the terms defined). Unless otherwise specified, all references herein to Articles, Sections or Schedules, are to Articles, Sections or Schedules of this Agreement. As used in this Agreement:

- 1.1 Agreement shall mean this Reliability Assurance Agreement, together with all Schedules hereto, as amended from time to time.
- 1.2 Applicable Regional Reliability Council shall have the same meaning as in the PJM Tariff.
- 1.3 Base Residual Auction shall have the same meaning as in Attachment DD to the PJM Tariff.
- 1.4 Behind The Meter Generation shall mean a generating unit that delivers energy to load without using the Transmission System or any distribution facilities (unless the entity that owns or leases the distribution facilities consented to such use of the distribution facilities and such consent has been demonstrated to the satisfaction of the Office of the Interconnection; provided, however, that Behind The Meter Generation does not include (i) at any time, any portion of such generating unit's capacity that is designated as a Capacity Resource or (ii) in any hour, any portion of the output of such generating unit that is sold to another entity for consumption at another electrical location or into the PJM Interchange Buergy Market.
- 1.5 Black Start Capability shall mean the ability of a generating unit or station to go from a shutdown condition to an operating condition and start delivering power without assistance from the power system.
- 1.6 Capacity Emergency Transfor Objective ("CETO") shall mean the amount of electric energy that a given area must be able to import in order to remain within a loss of load expectation of one event in 25 years when the area is experiencing a localized capacity emergency, as determined in accordance with the PJM Manuals. Without limiting the foregoing, CETO shall be calculated based in part on EFOR<sub>D</sub> determined in accordance with Paragraph C of Schedule 5.
- 1.7 Capacity Emergency Transmission Limit ("CETL") shall mean the capability of the transmission system to support deliveries of electric energy to a given area experiencing a localized capacity emergency as determined in accordance with the PJM Manuals.

Issued By: Craig Glazer Effective: June 1, 2007

-Vice-President,-Federal-Government Policy\_

- 1.8 Capacity Resources shall mean megawatts of (i) not capacity from existing or Planned Generation Capacity Resources meeting the requirements of Schedules 9 and 10 that are or will be owned by or contracted to a Party and that are or will be committed to satisfy that Party's obligations under this Agreement, or to satisfy the reliability requirements of the PJM Region, for a Delivery Year; (ii) net capacity from existing or Planned Generation Capacity Resources within the PJM Region not owned or contracted for by a Party which are accredited to the PJM Region pursuant to the procedures set forth in Schedules 9 and 10; and (iii) load reduction capability provided by Demand Resources, Energy Efficiency Resources, or ILR that are accredited to the PJM Region pursuant to the procedures set forth in Schedule 6.
- 1.9 Capacity Transfer Right shall have the meaning specified in Attachment DD to the PJM Tariff.
- 1.10 Control Area shall mean an electric power system or combination of electric power systems bounded by interconnection metering and telemetry to which a common generation control scheme is applied in order to:
- (a) match the power output of the generators within the electric power system(s) and energy purchased from entities outside the electric power system(s), with the load within the electric power system(s);
- (b) maintain scheduled interchange with other Control Areas, within the limits of Good Utility Practice;
- (c) maintain the frequency of the electric power system(s) within reasonable limits in accordance with Good Utility Practice and the criteria of NERC and Applicable Regional Reliability Councils;
- (d) maintain power flows on transmission facilities within appropriate limits to preserve reliability; and
- (e) provide sufficient generating capacity to maintain operating reserves in accordance with Good Utility Practice.
- 1.11 Daily Unforced Capacity Obligation shall have the meaning set forth in Schedule 8 or, as to an FRR Entity, in Schedule 8.1.
- 1.12 Delivery Year shall mean a Planning Period for which a Capacity Resource is committed pursuant to the auction procedures specified in Attachment DD to the Tariff or pursuant to an FRR Capacity Plan.
- 1.13 Demand Resource shall mean a resource with a demonstrated capability to provide a reduction in demand or otherwise control load in accordance with the requirements of Schedule 6 that offers and that clears load reduction capability in a Base Residual Auction or Incremental Auction or that is committed through an FRR Capacity Plan. As set forth in Schedule 6, a Demand Resource may be an existing demand response resource or a Planned Demand Resource.

Issued By: Craig Glazer

Effective: March 27, 2009

-Vice-President, Federal-Government-Policy-

First Revised Sheet No. 4 Superseding Original Sheet No. 4

PJM Interconnection, L.L.C. Rate Schedule FERC No. 44

- 1.14 Demand Resource Provider shall have the meaning specified in Attachment DD to the PJM Tariff.
- 1.15 DR Factor shall mean that factor approved from time to time by the PJM Board used to determine the unforced capacity value of a Demand Resource or ILR in accordance with Schedule 6.
- 1.16 East RAA shall mean that certain Reliability Assurance Agreement among Load-Serving Entities in the PJM Region, PJM Rate Schedule FERC No. 27.
- 1.17 Electric Cooperative shall mean an entity owned in cooperative form by its customers that is engaged in the generation, transmission, and/or distribution of electric energy.
- 1.18 Electric Distributor shall mean an entity that owns or leases with rights equivalent to ownership electric distribution facilities that are providing electric distribution service to electric load within the PJM Region.
- 1.19 Emergency shall mean (i) an abnormal system condition requiring manual or automatic action to maintain system frequency, or to prevent loss of firm load, equipment damage, or tripping of system elements that could adversely affect the reliability of an electric system or the safety of persons or property; or (ii) a fuel shortage requiring departure from normal operating procedures in order to minimize the use of such scarce fuel; or (iii) a condition that requires implementation of emergency procedures as defined in the PJM Manuals.
- 1.20 End-Use Customer shall mean a Member that is a retail end-user of electricity within the PJM Region.
- 1.20A Energy Efficiency Resource shall mean a project, including installation of more efficient devices or equipment or implementation of more efficient processes or systems, meeting the requirements of Schedule 6 of this Agreement and exceeding then-current building codes, appliance standards, or other relevant standards, designed to achieve a continuous (during peak periods as described in Schedule 6 and the PJM Manuals) reduction in electric energy consumption that is not reflected in the peak load forecast prepared for the Delivery Year for which the Energy Efficiency Resource is proposed, and that is fully implemented at all times during such Delivery Year, without any requirement of notice, dispatch, or operator intervention.
  - 1.21 Facilities Study Agreement shall have the same meaning as in the PJM Tariff
- 1.22 FERC shall mean the Federal Energy Regulatory Commission or any successor federal agency, commission or department,
- 1.23 Firm Point-To-Point Transmission Service shall mean Firm Transmission Service provided pursuant to the rates, terms and conditions set forth in Part II of the PJM Tariff.

Issued By: Craig Glazer

-Vice-President, Federal-Government-Policy-

Issued On: December 12, 2008

Effective: March 27, 2009

- 1.24 Firm Transmission Service shall mean transmission service that is intended to be available at all times to the maximum extent practicable, subject to an Emergency, an unanticipated failure of a facility, or other event beyond the control of the owner or operator of the facility or the Office of the Interconnection.
- 1.25 Fixed Resource Requirement Alternative or FRR Alternative shall mean an alternative method for a Party to satisfy its obligation to provide Unforced Capacity hereunder, as set forth in Schedule 8.1 to this Agreement.

Issued By: Craig Glazer Effective: March 27, 2009

Effective: December 3, 2008

- 1.26 Forecast Pool Requirement shall mean the amount equal to one plus the unforced reserve margin (stated as a decimal number) for the PJM Region required pursuant to this Agreement, as approved by the PJM Board pursuant to Schedule 4.1.
- Forceast RTO ILR Obligation shall have the same meaning as in the PJM 1,27 Tariff.
- Forecast Zonal ILR Obligation shall have the same meaning as in the PJM Tariff.
- FRR Capacity Plan shall mean a long-term plan for the commitment of Capacity Resources to satisfy the capacity obligations of a Party that has elected the FRR Alternative, as more fully set forth in Schedule 8.1 to this Agreement.
- 1.30 FRR Entity shall mean, for the duration of such election, a Party that has elected the FRR Alternative hereunder.
- 1.31 FRR Service Area shall mean (a) the service territory of an IOU as recognized by state law, rule or order; (b) the service area of a Public Power Entity or Electric Cooperative as recognized by franchise or other state law, rule, or order; or (c) a separately identifiable geographic area that is: (i) bounded by wholesale metering, or similar appropriate multi-site aggregate metering, that is visible to, and regularly reported to, the Office of the Interconnection, or that is visible to, and regularly reported to an Electric Distributor and such Electric Distributor agrees to aggregate the load data from such meters for such FRR Service Area and regularly report such aggregated information, by FRR Service Area, to the Office of the Interconnection; and (ii) for which the FRR Entity has or assumes the obligation to provide capacity for all load (including load growth) within such area excluding the load of Single-Customer LSEs that are FRR Entities. In the event that the service obligations of an Electric Cooperative or Public Power Butity are not defined by geographic boundaries but by physical connections to a defined set of customers, the FRR Service Area in such circumstances shall be defined as all customers physically connected to transmission or distribution facilities of such Electric Cooperative or Public Power Entity within an area bounded by appropriate wholesale aggregate metering as described above.
- 1.32 Full Requirements Service shall mean wholesale service to supply all of the power needs of a Load Serving Entity to serve end-users within the PJM Region that are not satisfied by its own generating facilities.
- Generation Capacity Resource shall mean a generation unit, or the right to capacity from a specified generation unit, that meets the requirements of Schedules 9 and 10 of this Agreement. A Generation Capacity Resource may be an existing Generation Capacity Resource or a Planned Generation Capacity Resource.
- Generation Owner shall mean a Member that owns or leases with rights equivalent to ownership facilities for the generation of electric energy that are located within the

Issued By: Craig Glazer

-Vice-President,-Federal-Government-Policy...

Effective: March 27, 2009

PJM Interconnection, L.L.C. Rate Schedule FERC No. 44

PJM Region. Purchasing all or a portion of the output of a generation facility shall not be sufficient to qualify a Member as a Generation Owner.

- 1.35 Generator Forced Outago shall mean an immediate reduction in output or capacity or removal from service, in whole or in part, of a generating unit by reason of an Emergency or threatened Emergency, unanticipated failure, or other cause beyond the control of the owner or operator of the facility, as specified in the relevant portions of the PJM Manuals. A reduction in output or removal from service of a generating unit in response to changes in market conditions shall not constitute a Generator Forced Outage.
- 1.36 Generator Maintenance Outage shall mean the scheduled removal from service, in whole or in part, of a generating unit in order to perform repairs on specific components of the facility, if removal of the facility qualifies as a maintenance outage pursuant to the PJM Manuals.
- 1.37 Generator Planned Outage shall mean the scheduled removal from service, in whole or in part, of a generating unit for inspection, maintenance or repair with the approval of the Office of the Interconnection in accordance with the PJM Manuals.
- 1.38 Good Utility Practice shall mean any of the practices, methods and acts engaged in or approved by a significant portion of the electric utility industry during the relevant time period, or any of the practices, methods and acts which, in the exercise of reasonable judgment in light of the facts known at the time the decision was made, could have been expected to accomplish the desired result at a reasonable cost consistent with good business practices, reliability, safety and expedition. Good Utility Practice is not intended to be limited to the optimum practice, method, or act to the exclusion of all others, but rather is intended to include acceptable practices, methods, or acts generally accepted in the region.
- 1.39 ILR Provider shall have the meaning specified in Attachment DD to the PJM Tariff.
- 1.40 Incremental Auction shall mean the First Incremental Auction, the Second Incremental Auction, the Third Incremental Auction, or the Conditional Incremental Auction, each as defined in Attachment DD to the PJM Tariff.
  - 1,41 Interconnection Agreement shall have the same meaning as in the PJM Tariff.
- 1.42 Interruptible Load for Reliability, or ILR, shall mean a resource with a demonstrated capability to provide a reduction in demand or otherwise control load in accordance with the requirements of Schedule 6 that is certified by PJM no later than three months prior to a Delivery Year.
- 1.43 IOU shall mean an investor-owned utility with substantial business interest in owning and/or operating electric facilities in any two or more of the following three asset categories: generation, transmission, distribution.

Issued By: Craig Glazer

Vice President. Federal Government Policy

- 1.44 Load Serving Entity or LSE shall mean any entity (or the duly designated agent of such an entity), including a load aggregator or power marketer, (i) serving end-users within the PJM Region, and (ii) that has been granted the authority or has an obligation pursuant to state or local law, regulation or franchise to sell electric energy to end-users located within the PJM Region. Load Serving Entity shall include any end-use customer that qualifies under state rules or a utility retail tariff to manage directly its own supply of electric power and energy and use of transmission and ancillary services.
- 1.45 Locational Reliability Charge shall mean the charge determined pursuant to Schedule 8.
- 1.46 Markets and Reliability Committee shall mean the committee established pursuant to the Operating Agreement as a Standing Committee of the Members Committee.
- 1.47 Member shall mean an entity that satisfies the requirements of Sections 1.24 and 11.6 of the PJM Operating Agreement. In accordance with Article 4 of this Agreement, each Party to this Agreement also is a Member.
- 1.48 Members Committee shall mean the committee specified in Section 8 of the PJM Operating Agreement composed of the representatives of all the Members.
- 1.49 NERC shall mean the North American Electric Reliability Council or any successor thereto.
  - 1.50 Network Resources shall have the meaning set forth in the PJM Tariff.
- 1.51 Network Transmission Service shall mean transmission service provided pursuant to the rates, terms and conditions set forth in Part III of the PJM Tariff or transmission service comparable to such service that is provided to a Load Serving Entity that is also a Transmission Owner (as that term is defined in the PJM Tariff).
- 1.52 Nominated Demand Resource Value shall have the meaning specified in Attachment DD to the PJM Tariff.
- 1.53 Nominated ILR Value shall have the meaning specified in Attachment DD to the PJM Tariff.
- 1.54 Non-Retail Behind the Meter Generation shall mean Behind the Meter Generation that is used by municipal electric systems, electric cooperatives, and electric distribution companies to serve load.
- 1.55 Obligation Peak Load shall have the meaning specified in Schedule 8 of this Agreement.

Issued By: Craig Glazer Effective: January 19, 2008

- 1.56 Office of the Interconnection shall mean the employees and agents of PJM Interconnection, L.L.C., subject to the supervision and oversight of the PJM Board, acting pursuant to the Operating Agreement.
- 1.57 Operating Agreement of PJM Interconnection, L.L.C. or Operating Agreement shall mean that certain agreement, dated April 1, 1997 and as amended and restated June 2, 1997 and as amended from time to time thereafter, among the members of the PJM Interconnection, L.L.C.
- 1.58 Operating Reserve shall mean the amount of generating capacity scheduled to be available for a specified period of an operating day to ensure the reliable operation of the PJM Region, as specified in the PJM Manuals.
- 1.59 Other Supplier shall mean a Member that is (i) a seller, buyer or transmitter of electric capacity or energy in, from or through the PJM Region, and (ii) is not a Generation Owner, Electric Distributor, Transmission Owner or End-Use Customer.
- 1.60 Partial Requirements Service shall mean wholesale service to supply a specified portion, but not all, of the power needs of a Load Serving Entity to serve end-users within the PJM Region that are not satisfied by its own generating facilities.
- 1.61 Percentage Internal Resources Required shall mean, for purposes of an FRR Capacity Plan, the percentage of the LDA Reliability Requirement for an LDA that must be satisfied with Capacity Resources located in such LDA.
  - 1.62 Party shall mean an entity bound by the terms of this Agreement.
  - 1.63 PJM shall mean the PJM Board and the Office of the Interconnection.
- 1.64 PJM Board shall mean the Board of Managers of the PJM Interconnection, L.L.C., acting pursuant to the Operating Agreement.
- 1.65 PJM Manuals shall mean the instructions, rules, procedures and guidelines established by the Office of the Interconnection for the operation, planning and accounting requirements of the PJM Region.
- 1.66 PJM Open Access Transmission Tariff or PJM Tariff shall mean the tariff for transmission service within the PJM Region, as in effect from time to time, including any schedules, appendices, or exhibits attached thereto.
- 1.67 PJM Region shall have the same meaning as provided in the Operating Agreement.
- 1.68 PJM Region Installed Reserve Margin shall mean the percent installed reserve margin for the PJM Region required pursuant to this Agreement, as approved by the PJM Board pursuant to Schedule 4.1.

Issued By: Craig Glazer Effective: June 1, 2007

-Vice President, Federal Government Policy-

Substitute Second Revised Sheet No. 9 Superseding Second Revised Sheet No. 9

PIM Interconnection, L.L.C. Rate Schedule FERC No. 44

- 1.69 Planned Demand Resource shall mean a Demand Resource that does not currently have the capability to provide a reduction in demand or to otherwise control load, but that is scheduled to be capable of providing such reduction or control on or before the start of the Delivery Year for which such resource is to be committed, as determined in accordance with the requirements of Schedule 6.
- 1.69A Planned External Generation Capacity Resource shall mean a proposed Generation Capacity Resource, or a proposed increase in the capability of a Generation Capacity Resource, that (a) is to be located outside the PJM Region, (b) participates in the generation interconnection process of a Control Area external to PJM, (c) is scheduled to be physically and electrically interconnected to the transmission facilities of such Control Area on or before the first day of the Delivery Year for which such resource is to be committed to satisfy the reliability requirements of the PJM Region, and (d) is in full commercial operation prior to the first day of such Delivery Year, such that it is sufficient to provide the Installed Capacity set forth in the Sell Offer forming the basis of such resource's commitment to the PJM Region. Prior to participation in any Reliability Pricing Model Auction for such Delivery Year, the Capacity Market Seller must demonstrate that it has executed an interconnection agreement (functionally equivalent to a System Impact Study Agreement under the PJM Tariff for Base Residual Auction and an Interconnection Service Agreement under the PJM Tariff for Incremental Auction) with the transmission owner to whose transmission facilities or distribution facilities the resource is being directly connected, and if applicable the transmission provider. A Planned External Generation Capacity Resource must provide evidence to PIM that it has been studied as a Network Resource, or such other similar interconnection product in such external Control Area, must provide contractual evidence that it has applied for or purchased transmission service to be deliverable to the PJM border, and must provide contractual evidence that it has applied for transmission service to be deliverable to the bus at which energy is to delivered, the agreements for which must have been executed prior to participation in any Reliability Pricing Model Auction for such Delivery Year, An External Generation Capacity Resource shall cease to be considered a Planned External Generation Capacity Resource as of the date that interconnection service commences, in accordance with the terms and conditions of the referenced interconnection agreement.
- 1.70 Planned Generation Capacity Resource shall mean a Generation Capacity Resource participating in the generation interconnection process under part IV, subpart A of the PJM Tariff, for which Interconnection Service is scheduled to commence on or before the first day of the Delivery Year for which such resource is to be committed, for which a System Impact Study Agreement has been executed prior to the Base Residual Auction for such Delivery Year, and for which an Interconnection Service Agreement has been executed prior to any Incremental Auction for such Delivery Year. A Generation Capacity Resource shall cease to be considered a Planned Generation Capacity Resource as of the date that Interconnection Service commences, in accordance with Part IV of the PJM Tariff, as to such resource.

Issued By: Craig Glazer Effective: March 27, 2009

-Vice-President,-Federal-Government-Policy-

- 1.71 Planning Period shall mean the 12 months beginning June 1 and extending through May 31 of the following year, or such other period approved by the Members Committee.
- 1.72 Public Power Entity shall mean any agency, authority, or instrumentality of a state or of a political subdivision of a state, or any corporation wholly owned by any one or more of the foregoing, that is engaged in the generation, transmission, and/or distribution of electric energy.
- 1.73 Qualifying Transmission Upgrades shall have the meaning specified in Attachment DD to the PJM Tariff.
- 1.74 Markets and Reliability Committee shall mean the committee established pursuant to the Operating Agreement as a Standing Committee of the Members Committee.
- 1.75 Reliability Principles and Standards shall mean the principles and standards established by NERC or an Applicable Regional Reliability Council to define, among other things, an acceptable probability of loss of load due to inadequate generation or transmission capability, as amended from time to time.
- 1.76 Required Approvals shall mean all of the approvals required for this Agreement to be modified or to be terminated, in whole or in part, including the acceptance for filing by FERC and every other regulatory authority with jurisdiction over all or any part of this Agreement.

Issued By: Craig Glazer Effective: March 27, 2009

-Vice-Presidenty-Rederal-Government-Policy-

- Self-Supply shall have the meaning provided in Attachment DD to the PJM 1.77 Tariff.
- Single-Customer LSE shall mean a Party that (a) serves only retail customers 1.78 that are Affiliates of such Party; (b) owns or controls generation facilities located at one or more of the retail customer location(s) that in the aggregate satisfy at least 50% of such Party's Unforced Capacity obligations; and (c) serves retail customers having (i) an Obligation Peak Load at all locations of no less than 100 MW, where such peak load of each such location is no less than 10 MW; or (ii) an Obligation Peak Load at each location served of no less than 25 MW.
- 1.79 South RAA shall mean that certain Reliability Assurance Agreement among Load-Serving Entities in the PJM South Region, on file with FERC as PJM Rate Schedule FERC No. 40.
- State Consumer Advocate shall mean a legislatively created office from any State, all or any part of the territory of which is within the PJM Region, and the District of Columbia established, inter alia, for the purpose of representing the interests of energy consumers before the utility regulatory commissions of such states and the District of Columbia and the FERC.
- State Regulatory Structural Change shall mean as to any Party, a state law, 1.81 rule, or order that, after September 30, 2006, initiates a program that allows retail electric consumers served by such Party to choose from among alternative suppliers on a competitive basis, terminates such a program, expands such a program to include classes of customers or localities served by such Party that were not previously permitted to participate in such a program, or that modifies retail electric market structure or market design rules in a manner that materially increases the likelihood that a substantial proportion of the customers of such Party that are eligible for retail choice under such a program (a) that have not exercised such choice will exercise such choice; or (b) that have exercised such choice will no longer exercise such choice, including for example, without limitation, mandating divestiture of utility-owned generation or structural changes to such Party's default service rules that materially affect whether retail choice is economically viable.
- Threshold Quantity shall mean, as to any FRR Entity for any Delivery Year, the sum of (a) the Unforced Capacity equivalent (determined using the Pool-Wide Average EFORn) of the Installed Reserve Margin for such Delivery Year multiplied by the Preliminary Forecast Peak Load for which such FRR Entity is responsible under its FRR Capacity Plan for such Delivery Year, plus (b) the lesser of (i) 3% of the Unforced Capacity amount determined in (a) above or (ii) 450 MW. If the FRR Entity is not responsible for all load within a Zone, the Preliminary Forecast Peak Load for such entity shall be the FRR Entity's Obligation Peak Load last determined prior to the Base Residual Auction for such Delivery Year, times the Base FRR Scaling Factor (as determined in accordance with Schedule 8.1).

Issued By:

Craig Glazer

-Vice-President,-Federal-Government-Policy-

Effective: June 1, 2007

Issued On: Sentember 29, 2006

- 1.83 Transmission Facilities shall mean facilities that: (i) are within the PJM Region; (ii) meet the definition of transmission facilities pursuant to FERC's Uniform System of Accounts or have been classified as transmission facilities in a ruling by FERC addressing such facilities; and (iii) have been demonstrated to the satisfaction of the Office of the Interconnection to be integrated with the PJM Region transmission system and integrated into the planning and operation of the PJM Region to serve all of the power and transmission customers within the PJM Region.
- 1.84 Transmission Owner shall mean a Member that owns or leases with rights equivalent to ownership Transmission Facilities. Taking transmission service shall not be sufficient to qualify a Member as a Transmission Owner.
- 1.85 Transmission Owners Agreement shall mean that certain Consolidated Transmission Owners Agreement, dated as of December 15, 2005 and as amended from time to time, among transmission owners within the PJM Region.
- 1.86 Unforced Capacity shall mean installed capacity rated at summer conditions that is not on average experiencing a forced ontage or forced derating, calculated for each Capacity Resource on the 12-month period from October to September without regard to the ownership of or the contractual rights to the capacity of the unit.
- 1.87 West RAA shall mean the "PJM West Reliability Assurance Agreement among the Load Serving Entities in the PJM West Region," on file with FERC as PJM Rate Schedule FERC No. 32.
- 1.88 Zonal Capacity Price shall mean the price of Unforced Capacity in a Zone that an LSE that has not elected the FRR Alternative is obligated to pay for a Delivery Year as determined pursuant to Attachment DD to the PJM Tariff.
- 1.89 Zone shall mean an area within the PJM Region, as set forth in Schedule 15, or as such areas may be (i) combined as a result of mergers or acquisitions or (ii) added as a result of the expansion of the boundaries of the PJM Region. A Zone shall include any Non-Zone Network Load (as defined in the PJM Tariff) located outside the PJM Region that is served from such Zone under Schedule H-A of the PJM Tariff.

Issued By: Craig Glazer . Effective: June 1, 2007

Vice President, Federal Government Policy

#### ARTICLE 2 -- PURPOSE

This Agreement is intended to ensure that adequate Capacity Resources, including planned and existing Generation Capacity Resources, planned and existing Demand Resources. Energy Efficiency Resources, and ILR will be planned and made available to provide reliable service to loads within the PJM Region, to assist other Parties during Emergencies and to coordinate planning of such resources consistent with the Reliability Principles and Standards. Further, it is the intention and objective of the Parties to implement this Agreement in a manner consistent with the development of a robust competitive marketplace. To accomplish these objectives, this Agreement is among all of the Load Serving Entities within the PJM Region. Unless this Agreement is terminated as provided in Section 3.3, every entity which is or will become a Load Serving Entity within the PJM Region is to become and remain a Party to this Agreement or to an agreement (such as a requirements supply agreement) with a Party pursuant to which that Party has agreed to act as the agent for the Load Serving Entity for purposes of satisfying the obligations under this Agreement related to the load within the PJM Region of that Load Serving Butity. Nothing herein is intended to abridge, alter or otherwise affect the emergency powers the Office of the Interconnection may exercise under the Operating Agreement and PJM Tariff.

#### ARTICLE 3 -- TERM AND TERMINATION OF THE AGREEMENT

- 3.1 Term. This Agreement shall become effective as of June 1, 2007 and shall govern Unforced Capacity Obligations for the Planning Period beginning as of that date ("Initial Delivery Year"), and for each Planning Period thereafter, unless and until terminated in accordance with the terms hereof.
- 3.2 Transition Provisions. The East RAA, West RAA, and South RAA shall govern, in accordance with their terms now in effect or as hereafter validly amended, capacity requirements for each Planning Period through the end of the Planning Period ending May 31, 2007. Subject to the termination provisions in each such agreement, the East RAA, West RAA, and South RAA shall terminate effective 11:59:59 p.m. on May 31, 2007.

#### 3.3 Termination.

3.3.1 Rights to Terminate. This Agreement may be terminated by a vote in the Members Committee to terminate the Agreement by an affirmative Sector Vote as specified in the Operating Agreement and upon the receipt of all Required Approvals related to the termination of this Agreement. Any such termination must be approved by the PJM Board and filed with the FERC and shall become effective only upon the FERC's approval.

Issued By: Craig Glazer Effective: March 27, 2009

Effective: March 27, 2009

PJM Interconnection, L.L.C. Rate Schedule FERC No. 44

3.3.2 Obligations upon Termination. Any provision of this Agreement that expressly or by implication comes into or remains in force following the termination of this Agreement shall survive such termination. The surviving provisions shall include, but shall not be limited to: (a) final settlement of the obligations of each Party under Articles 8 and 12 of this Agreement, including the accounting for the period ending with the last day of the month for which the Agreement is effective, (b) the provisions of this Agreement necessary to conduct final billings, collections and accounting with respect to all matters arising hereunder and (c) the indemnification provisions as applicable to periods prior to such termination.

Issued By: Craig Glazer

-Vice President, Federal Government-Policy

#### ARTICLE 4 -- ADDITION OF NEW PARTIES

Bach Party agrees that any entity that (i) is or will become a Load Serving Entity, (ii) complies with the process and data requirements set forth in Schedule 1, and (iii) meets the standards for interconnection set forth in Schedule 2 shall become a Party to this Agreement and shall be listed on Schedule 16 of this Agreement upon becoming a party to the Operating Agreement, and execution of a counterpart of this Agreement.

#### ARTICLE 5 -- WITHDRAWAL OR REMOVAL OF A PARTY

#### 5.1 Withdrawal of a Party.

- 5.1.1 Notice. Upon written notice to the Office of the Interconnection, any Party may withdraw from this Agreement, effective upon the completion of its obligations hereunder and the documentation by such Party, to the satisfaction of the Office of the Interconnection, that such Party is no longer a Load Serving Entity.
  - 5.1.2 Determination of Obligations. A Party's obligations hereunder shall be completed as of the end of the last month for which such Party's obligations have been set at the time said notice is received, except as provided in Article 13, or unless the Members Committee determines that the remaining Parties will be able to adjust their obligations and commitments related to the performance of this Agreement consistent with such earlier withdrawal date as may be requested by the withdrawing Party, without undue hardship or cost, while maintaining the reliability of the PJM Region.
  - 5.1.3 Survival of Obligations upon Withdrawal. (a) The obligations of a Party upon its withdrawal from this Agreement and any obligations of that Party under this Agreement at the time of its withdrawal shall survive the withdrawal of the Party from this Agreement. Upon the withdrawal of a Party from this Agreement, final settlement of the obligations of such Party under Articles 7 and 11 of this Agreement shall include the accounting through the date established pursuant to Sections 5.1.1 and 5.1.2.
  - (b) Any Party that withdraws from this Agreement shall pay all costs and expenses associated with additions, deletions and modifications to communication, computer, and other affected facilities and procedures, including any filing fees, to effect the withdrawal of the Party from the Agreement.
  - (e) Prior to withdrawal, a withdrawing Party desiring to remain interconnected with the PJM Region shall enter into a control area to control area interconnection agreement with the Office of the Interconnection and the transmission owner or Electric Distributor within the PJM Region with which its facilities are interconnected.

Issued By: Craig Glazer Effective: June 1, 2007

-Vice-President, Federal-Government-Policy--

- 5.1.4 Regulatory Review. Any withdrawal from this Agreement shall be filed with FERC and shall become effective only upon FERC's approval.
- Agreement within 30 days after the due date or (b) is in breach of any material obligation under this Agreement, the Office of the Interconnection shall cause a notice of such non-payment or breach to be sent to that Party. If the Party fails, within 3 days of the receipt of such notice (except as otherwise described below), to cure such non-payment or breach, or if the breach cannot be cured within such time and if the Party does not diligently commence to cure the breach within such time and to diligently pursue such cure to completion, the Office of the Interconnection and the remaining Parties may, without an election of remedies, exercise all remedies available at law or in equity or other appropriate proceedings. Such proceedings may include (c) the commencement of a proceeding before the appropriate state regulatory commission(s) to request suspension or revocation of the breaching Party's license or authorization to serve retail load within the state(s) and/or (d) bringing any civil action or actions or recovery of damages that may include, but not be limited to, all amounts due and unpaid by the breaching Party, and all costs and expenses reasonably incurred in the exercise of its remedies hereunder (including, but not limited to, reasonable attorneys' fees).

#### ARTICLE 6 -- MANAGEMENT ADMINISTRATION

Except as otherwise provided herein, this Agreement shall be managed and administered by the Parties, Members, and State Consumer Advocates through the Members Committee and the Markets and Reliability Committee as a Standing Committee thereof, except as delegated to the Office of the Interconnection and except that only the PJM Board shall have the authority to approve and authorize the filing of amendments to this Agreement with the FERC.

## ARTICLE 7 -- RESERVE REQUIREMENTS AND OBLIGATIONS

- 7.1 Forecast Pool Requirement and Unforced Capacity Obligations. (a) The Porecast Pool Requirement shall be established to ensure a sufficient amount of capacity to meet the forecast load plus reserves adequate to provide for the unavailability of Generation Capacity Resources, load forecasting uncertainty, and planned and maintenance outages. Schedule 4 sets forth guidelines with respect to the Porecast Pool Requirement.
- (b) Unless the Party and its customer that is also a Load Serving Entity agree that such customer is to bear direct responsibility for the obligations set forth in this Agreement, (i) any Party that supplies Full Requirements Service to a Load Serving Entity within the PJM Region shall be responsible for all of that Load Serving Entity's capacity obligations under this Agreement for the period of such Full Requirements Service and (ii) any Party that supplies Partial Requirements Service to a Load Serving Entity within the PJM Region shall be responsible for such portion of the capacity obligations of that Load Serving Entity as agreed by the Party and the Load Serving Entity so long as the Load Serving Entity's full capacity obligation under this Agreement is allocated between or among Parties to this Agreement.

Issued By: Craig Glazer Effective: June 1, 2007

-Vice-President, Federal Government-Policy-

- 7.2 Responsibility to Pay Locational Reliability Charge. Except to the extent its capacity obligations are satisfied through the FRR Alternative, each Party shall pay, as to the loads it serves in each Zone during a Delivery Year, a Locational Reliability Charge for each such Zone during such Delivery Year. The Locational Reliability Charge shall equal such Party's Daily Unforced Capacity Obligation in a Zone, as determined pursuant to Schedule 8 of this Agreement, times the Final Zonal Capacity Price for such Zone, as determined pursuant to Attachment DD of the PJM Tariff.
- LSE Option to Provide Capacity Resources. A Party obligated to pay a 7.3 Locational Reliability Charge for a Delivery Year may partially or wholly offset amounts it must pay for such charge by offering Capacity Resources for sale in the Base Residual Auction or an Incremental Auction applicable to such Delivery Year; provided such resources clear such auctions. Resources offered for sale in any such auction must satisfy the requirements specified in this Agreement and the PJM Manuals. Such a Party may choose to nominate a resource in the Base Residual Auction as Self-Supply, may choose to designate a price offer for such resource into any such auction, or may indicate in its offer that it wishes to commit such resource regardless of the clearing price, in which case the Party shall receive the marginal value of system capacity and the price adders for any applicable binding locational constraint in accordance with Attachment DD of the PJM Tariff. Each such Party acknowledges that the clearing price it receives for a resource offered for sale and cleared, or Self-Supplied, in an auction may differ from the Final Zonal Capacity Price determined for the applicable Zone for the applicable Delivery Year, and that the Party shall remain responsible for the Locational Reliability Charge notwithstanding any such difference between the Capacity Resource Clearing Price and the Final Zonal Capacity Price. In addition, such Parties recognize that they may receive an allocation of Capacity Transfer Rights which may offset a portion of the Locational Reliability Charge, and that they may offset a portion of the Locational Reliability Charge by nominating ILR, or by offering and clearing Qualifying Transmission Upgrades in the Base Residual Auction.
- 7.4 Fixed Resource Requirement Alternative. A Party that is eligible for the Fixed Resource Requirement Alternative may satisfy its obligations hereunder to provide Unforced Capacity by submitting and adhering to an FRR Capacity Plan and meeting all other terms and conditions of such alternative, as set forth in this Agreement.
- Resources to meet its obligations hereunder shall submit to the Office of the Interconnection its plans (or revisions to previously submitted plans), as prescribed by Schedule 7, or, in the case of a Party electing the FRR Alternative, as prescribed by Schedule 8.1, to install or contract for Capacity Resources. As set forth in Schedule 10, each Party must designate its Capacity Resources as Network Resources or Points of Receipt under the PJM Tariff to allow firm delivery of the output of its Capacity Resources to the Party's load within the PJM Region and each Party must obtain any necessary Firm Transmission Service in an amount sufficient to deliver Capacity Resources from outside the PJM Region to the border of the PJM Region to reliably serve the Party's load within the PJM Region.

Issued By: Craig Glazer Effective: March 27, 2009

-Vice-President,-Federal-Government-Policy-

Issued On: December 12, 2008

- 7.6 Nature of Resources. Each Party electing to Self-Supply resources, or electing the PRR Alternative, shall provide or arrange for specific, firm Capacity Resources that are capable of supplying the energy requirements of its own load on a firm basis without interruption for economic conditions and with such other characteristics that are necessary to support the reliable operation of the PJM Region, as set forth in more detail in Schedules 6, 9 and 10.
- 7.7 Compliance Audit of Parties. (a) For the 36 months following the end of each Planning Period, each Party shall make available the records and supporting information related to the performance of this Agreement from such Planning Period for audit.
- (b) The Office of the Interconnection shall evaluate and determine the need for an audit of a Party and shall, upon a decision of the Members Committee to require such an audit, provide the Party or Parties to be audited with notice at least 90 days in advance of the audit.
- (c) Any audit of a Party conducted pursuant to this Agreement shall be performed by an independent consultant to be selected by the Office of the Interconnection. Such audit shall include a review of the Party's compliance with the procedures and standards adopted pursuant to this Agreement.
- (d) Prior to the completion of its audit, the independent consultant shall review its preliminary findings with the Party being audited and, upon the completion of its audit, the independent consultant shall issue a final audit report detailing the results of the audit, which final report shall be issued to the Party being audited, the Office of the Interconnection and the Markets and Reliability Committee; provided, however, no confidential data of any Party shall be disclosed through such audit reports.
- (e) If, based on a final audit report, an adjustment is required to any amounts due to or from the Parties pursuant to Schedules 8, 12, or 13, such adjustment shall be accounted for in determining the amounts due to or from the Parties pursuant to Schedules 8, 12, or 13 for the month in which the adjustment is identified.

Issued By: Craig Glazer Effective: June 1, 2007

# ARTICLE 8 -- DEFICIENCY, DATA SUBMISSION, AND EMERGENCY CHARGES

- 8.1 Nature of Charges. Upon the advice and recommendations of the Members Committee, the PJM Board shall, subject to any Required Approvals, approve certain charges to be imposed on a Party for its failure to satisfy its obligations under this Agreement, as set forth in Schedule 12.
- 8.2 Determination of Charge Amounts. No later than April 1 of each year, the Members Committee shall recommend to the PJM Board such charges to be applicable under this Agreement during the following Planning Period and Schedule 12, which, upon approval by the PJM Board, shall be modified accordingly, subject to the receipt of all Required Approvals. The Markets and Reliability Committee may establish projected charges for estimating purposes only.
- 8.3 Distribution of Charge Receipts. All of the monies received as a result of any charges imposed pursuant to this Agreement shall be disbursed as provided in this Agreement.

#### ARTICLE 9 -- COORDINATED PLANNING AND OPERATION

- 9.1 Overall Coordination. Each Party shall cooperate with the other Parties in the coordinated planning and operation of their owned or contracted for Capacity Resources to obtain a degree of reliability consistent with the Reliability Principles and Standards. In furtherance of such cooperation each Party shall:
- (a) coordinate its Capacity Resource plans with the other Parties to maintain reliable service to its own electric customers and those of the other Parties;
- (b) cooperate with the members and associate members of such Party's Applicable Regional Reliability Council to ensure the reliability of the region;
- (c) make available its Capacity Resources to the other Parties through the Office of the Interconnection for coordinated operation and to supply the needs of the PJM Region for Operating Reserves;
- (d) provide or arrange for Network Transmission Service or Firm Point-to-Point Transmission Service for service to the projected load of the Party and include all Capacity Resources as Network Resources designated pursuant to the PJM Tariff or Points of Receipt for Firm Point-to-Point Transmission Service;
- (e) provide or arrange for sufficient reactive capability and voltage control facilities to meet Good Utility Practice and to be consistent with the Reliability Principles and Standards;
- (f) implement emergency procedures and take such other coordination actions as may be necessary in accordance with the directions of the Office of the Interconnection in times of Emergencies; and

Issued By: Craig Glazer Effective: June 1, 2007

- (g) maintain or arrange for Black Start Capability for a portion of its Capacity Resources at least equal to that established from time-to-time by the Office of the Interconnection.
- 9.2 Generator Planned Ontage Scheduling. Bach Party shall develop, or cause to be developed, its schedules of planned outages of its Capacity Resources. Such schedules of planned outages shall be submitted to the Office of the Interconnection for coordination with the schedules of planned outages of other Parties and anticipated transmission planned outages.
- 9.3 Data Submissions. Bach Party shall submit to the Office of the Interconnection the data and other information necessary for the performance of this Agreement, including its plans for the addition, modification and removal of Capacity Resources, its load forecasts, and such other data set forth in Schedule 11.
- 9.4 Charges for Failures to Comply. (a) An emergency procedure charge, as set forth in Attachment DD to the PJM Tariff, shall be imposed on any Party that fails to comply with the directions of the Office of the Interconnection pursuant to Section 9.1(f)
- (b) A data submission charge, as set forth in Schedule 12, shall be imposed on any Party that fails to submit the data, plans or other information required by this Agreement in a timely or accurate manner as provided in Schedule 11.
- 9.5 Metering. Each Party shall comply with the metering standards for the PJM Region, as set forth in the PJM Manuals.

#### ARTICLE 10 -- SHARED COSTS

- 10.1 Recording and Audit of Costs. (a) Any costs related to the performance of this Agreement, including the costs of the Office of the Interconnection and such other costs that the Members Committee determines are to be shared by the Parties, shall be documented and recorded in a manner acceptable to the Parties.
- (b) The Members Committee may require an audit of such costs; provided, however, the cost records shall be available for audit by any Member or State Consumer Advocate, at the sole expense of such Member or State Consumer Advocate, for 36 months following the end of the Planning Period in which the costs were incurred.
- 10.2 Cost Responsibility. The costs determined under Section 10.1(a) shall be allocated to and recovered from the Parties to this Agreement and other entities pursuant to Schedule 9-5 of the PIM Tariff.

#### ARTICLE 11 -- BILLING AND PAYMENT

11.1 Periodic Billing. Each Party shall receive a statement periodically setting forth (i) any amounts due from or to that Party as a result of any charges imposed pursuant to this Agreement and (ii) that Party's share of any costs allocated to that Party pursuant to Article 10.

Issued By: Craig Glazer

Effective: June 1, 2007

-Vice-President, Federal-Government-Policy—

To the extent practical, such statements are to be coordinated with any billings or statements required pursuant to the Operating Agreement or PJM Tariff.

- 11.2 Payment. The payment terms and conditions shall be as set forth in the billing statement and shall, to the extent practicable, be the same as those then in effect under the PJM Tariff.
- 11.3 Failure to Pay. If any Party fails to pay its share of the costs allocated pursuant to Article 10, those unpaid costs shall be allocated to and paid by the other Parties hereto in proportion to the sum of the Daily Unforced Capacity Obligations of each such Party for the billing month. The Office of the Interconnection shall enforce collection of a Party's share of the costs.

#### ARTICLE 12 -- INDEMNIFICATION AND LIMITATION OF LIABILITIES

- 12.1 Indemnification. (a) Each Party agrees to indemnify and hold harmless each of the other Parties, its officers, directors, employees or agents (other than PJM Interconnection, L.L.C., its board or the Office of the Interconnection) for all actions, claims, demands, costs. damages and liabilities asserted by third parties against the Party seeking indemnification and arising out of or relating to acts or omissions in connection with this Agreement of the Party from which indemnification is sought, except (i) to the extent that such liabilities result from the willful misconduct of the Party seeking indemnification and (ii) that each Party shall be responsible for all claims of its own employees, agents and servants growing out of any workmen's compensation law. Nothing herein shall limit a Party's indemnity obligations under Article 16 of the Operating Agreement.
- The amount of any indemnity payment under this Section 12.1 shall be reduced (including, without limitation, retroactively) by any insurance proceeds or other amounts actually recovered by the Party seeking indemnification in respect of the indemnified actions, claims, demands, costs, damages or liabilities. If any Party shall have received an indemnity payment in respect of an indemnified action, claim, demand, cost, damage, or Hability and shall subsequently actually receive insurance proceeds or other amounts in respect of such action, claim, demand, cost, damage, or liability, then such Party shall pay to the Party that made such indemnity payment the lesser of the amount of such insurance proceeds or other amounts actually received and retained or the net amount of the indemnity payments actually received previously.
- 12.2 Limitations on Liability. No Party will be liable to another Party for any claim for indirect, incidental, special or consequential damage or loss of the other Party including, but not limited to, loss of profits or revenues, cost of capital or financing, loss of goodwill and cost of replacement power arising from such Party's carrying out, or failure to carry out, any obligations contemplated by this Agreement; provided, however, nothing herein shall be deemed to reduce or limit the obligation of any Party with respect to the claims of persons or entities not a party to this Agreement.
- 12.3 Insurance. Each Party shall obtain and maintain in force such insurance as is required of Load Serving Entities by the states in which it is doing business within the PJM Region,

Craig Glazer Issued By:

Vice President, Federal Government Policy

Sentember 29, 2006

#### ARTICLE 13 -- SUCCESSORS AND ASSIGNS

- 13.1 Binding Rights and Obligations. The rights and obligations created by this Agreement and all Schedules and supplements thereto shall inure to and bind the successors and assigns of the Parties; provided, however, no Party may assign its rights or obligations under this Agreement without the written consent of the Members Committee unless the assignee concurrently becomes the Load Serving Entity with regard to the end-users previously served by the assignor.
- 13.2 Consequences of Assignment. Upon the assignment of all of its rights and obligations hereunder to a successor consistent with the provisions of Section 13.1, the assignor shall be deemed to have withdrawn from this Agreement.

#### . ARTICLE 14 -- NOTICE

Except as otherwise expressly provided herein, any notice required hereinder shall be in writing and shall be sent: overnight courier, hand delivery, telecopy or other reliable electronic means to the representative on the Members Committee of such Party at the address for such Party previously provided by such Party to the other Parties. Any notice shall be deemed to have been given (i) upon delivery if given by overnight courier, hand delivery or certified mail or (ii) upon confirmation if given by facsimile or other reliable electronic means.

#### ARTICLE 15 -- REPRESENTATIONS AND WARRANTIES

- 15.1 Initial Representations and Warranties. Each Party represents and warrants to the other Parties that, as of the date it becomes a Party:
- (a) the Party is duly organized, validly existing and in good standing under the laws of the jurisdiction where organized;
- (b) the execution and delivery by the Party of this Agreement and the performance of its obligations hereunder have been duly and validly authorized by all requisite action on the part of the Party and do not conflict with any applicable law or with any other agreement binding upon the Party. The Agreement has been duly executed and delivered by the Party, and this Agreement constitutes the legal, valid and binding obligation of the Party enforceable against it in accordance with its terms except insofar as the enforceability thereof may be limited by applicable bankruptcy, insolvency, reorganization, fraudulent conveyance, moratorium or other similar laws affecting the enforcement of creditor's rights generally and by general principles of equity regardless of whether such principles are considered in a proceeding at law or in equity; and
- (c) there are no actions at law, suits in equity, proceedings or claims pending or, to the knowledge of the Party, threatened against the Party before or by any federal, state, foreign or local court, tribunal or governmental agency or authority that might materially delay, prevent or hinder the performance by the Party of its obligations hereunder.

Issued By: Craig Glazer Effective: June 1, 2007

- 15.2 Continuing Representations and Warranties. Each Party represents and warrants to the other Parties that throughout the term of this Agreement:
  - (a) the Party is a Load Serving Entity;
  - (b) the Party satisfies the requirements of Schedule 2;
  - (c) the Party is in compliance with the Reliability Principles and Standards;
- (d) the Party is a signatory, or its principals are signatories, to the agreements set forth in Schedule 3:
  - (e) the Party is in good standing in the jurisdiction where incorporated; and
- (f) the Party will endeavor in good faith to obtain any corporate or regulatory authority necessary to allow the Party to fulfill its obligations hereunder.

#### ARTICLE 16 -- OTHER MATTERS

- 16.1 Relationship of the Parties. This Agreement shall not be interpreted or construed to create any association, joint venture, or partnership between or among the Parties or to impose any partnership obligation or partnership liability upon any Party.
- 16.2 Governing Law. This Agreement shall be interpreted, construed and governed by the laws of the State of Delaware.
- 16.3 Severability. Each provision of this Agreement shall be considered severable and if for any reason any provision is determined by a court or regulatory authority of competent jurisdiction to be invalid, void or unenforceable, the remaining provisions of this Agreement shall continue in full force and effect and shall in no way be affected, impaired or invalidated, and such invalid, void or unenforceable provision shall be replaced with valid and enforceable provision or provisions which otherwise give effect to the original intent of the invalid, void or unenforceable provision.
- 16.4 Amendment. This Agreement may be amended only by action of the PJM Board. Notwithstanding the foregoing, an Applicant eligible to become a Party in accordance with the procedures set forth in Article 4 shall become a Party by executing a counterpart of this Agreement without the need for execution of such counterpart by any other Party. The PJM Office of the Interconnection shall file with PERC any amendment to this Agreement approved by the PJM Board.
- 16.5 Headings. The article and section headings used in this Agreement are for convenience only and shall not affect the construction or interpretation of any of the provisions of this Agreement.
- 16.6 Confidentiality. (a) No Party shall have a right hereunder to receive or review any documents, data or other information of another Party, including documents, data or other

Issued By: Craig Glazer

Effective: June 1, 2007

Vice President, Federal Government Policy

Effective: June 1, 2007

PJM Interconnection, L.L.C. Rate Schedule FERC No. 44

information provided to the Office of the Interconnection, to the extent such documents, data or information have been designated as confidential pursuant to the procedures adopted by the Office of the Interconnection or to the extent that they have been designated as confidential by another Party; provided, however, a Party may receive and review any composite documents, data and other information that may be developed based on such confidential documents, data or information if the composite document does not disclose any individual Party's confidential data or information.

- (b) Notwithstanding anything in this Section to the contrary, if a Party is required by applicable laws, or in the course of administrative or judicial proceedings, to disclose information that is otherwise required to be maintained in confidence pursuant to this Section, that Party may make disclosure of such information; provided, however, that as soon as the Party learns of the disclosure requirement and prior to making disclosure, that Party shall notify the affected Party or Parties of the requirement and the terms thereof and the affected Party or Parties may direct, at their sole discretion and cost, any challenge to or defense against the disclosure requirement and the Party shall cooperate with such affected Parties to the maximum extent practicable to minimize the disclosure of the information consistent with applicable law. Each Party shall cooperate with the affected Parties to obtain proprietary or confidential treatment of such information by the person to whom such information is disclosed prior to any such disclosure.
- (c) Any contract with a contractor retained to provide technical support or to otherwise assist with the administration of this Agreement shall impose on that contractor a contractual duty of confidentiality that is consistent with this Section.
- 16.7 Counterparts. This Agreement may be executed in any number of counterparts, each of which shall be an original but all of which together will constitute one instrument, binding upon all parties hereto, notwithstanding that all of such parties may not have executed the same counterpart.
- 16.8 No Implied Waivers. The failure of a Party to insist upon or enforce strict performance of any of the provisions of this Agreement shall not be construed as a waiver or relinquishment to any extent of such Party's right to assert or rely upon any such provisions, rights and remedies in that or any other instance; rather, the same shall be and remain in full force and effect.
- 16.9 No Third Party Beneficiaries. This Agreement is intended to be solely for the benefit of the Parties and their respective successors and permitted assigns and is not intended to and shall not confer any rights or benefits on any third party not a signatory hereto.
- 16.10 Dispute Resolution. Except as otherwise specifically provided in the Operating Agreement, disputes arising under this Agreement shall be subject to the dispute resolution provisions of the Operating Agreement.

Issued By: Craig Glazer

IN WITNESS WHEREOF, the Parties have caused this Agreement to be executed by their duly authorized representatives.

[Signatures]

Issued By: Craig Glazer Effective: June 1, 2007

#### PROCEDURES TO BECOME A PARTY

#### A. Notice

Any entity that is or will become a Load Serving Entity within the PJM Region and thus a Party to the Reliability Assurance Agreement shall submit a notice to the Office of the Interconnection together with (i) its representation that it has satisfied or will (prior to the date the Reliability Assurance Agreement is to become effective as to that entity) satisfy the requirements to become a Party, (ii) all data required to coordinate planning and operations within the PJM Region as applicable, in a format defined in the PJM Manuals, and (iii) a deposit in an amount to be specified that will be applied toward the costs of the required analysis.

The required notice, representations, data and deposit must be submitted in sufficient time to conduct an analysis of the data submitted and to adjust the obligations of the Parties for the month in which the entity desires to become a Party:

- If the then existing boundaries of the PJM Region would be expanded by an entity becoming a Party, that entity shall submit the required notice, representation, data and deposit no later than when the entity applies for transmission service under the PJM Tariff.
- If an entity will serve load within the then existing boundaries of the PJM Region, that entity shall submit the required notice, representations, data and deposit as soon as possible prior to the month (i) in which it is to begin serving loads within the PJM Region or (ii) in which any agency relationship through which the entity's obligations under this Agreement had been satisfied is terminated; provided, however, that such submission shall not be required sooner than any request for transmission service or any change in the designation of Network Resources or points of receipt and loads under the PJM Tariff associated with providing service to those loads.

#### B. Analysis of Data

The notice, representations and data submitted to the Office of the Interconnection are to be analyzed in accordance with procedures consistent with this Agreement and the encouragement of reliable operation of the PJM Region.

#### C. Response

Upon completion of the analysis, the Office of the Interconnection will inform the entity of (a) the estimated costs and expenses associated with modifications to communication, computer and other facilities and procedures, including any filing fees, needed to include the entity as a Party, (b) the entity's share of any costs pursuant to Article 10, and (c) the earliest

Issued By: Craig Glazer Effective: June 1, 2007

Original Sheet No. 25

PJM Interconnection, L.L.C. Rate Schedule FERC No. 44

date upon which the entity could become a Party. In addition, a counterpart of the Agreement shall be forwarded for execution.

#### D. Agreement by New Party

After receipt of the response from the Office of the Interconnection, the entity shall identify its representative to the Members Committee and Markets and Reliability Committee and execute the counterpart of the Agreement, indicating the desired effective date; provided, however, such effective date shall be the first day of a month, may be no earlier than the date indicated in the response from the Office of the Interconnection and shall be no later than (i) the date on which the entity begins serving loads within the PJM Region or (ii) the termination date of any agency relationship through which its obligations under this Agreement had been satisfied. The executed counterpart of the Agreement, together with payment of its share of any costs then due, shall be returned as directed by the Office of the Interconnection.

Issued By: Craig Glazer Effective: June 1, 2007

-Vice-President, Federal-Government-Policy-...

Issued On: September 29, 2006

#### STANDARDS FOR INTEGRATING AN ENTITY INTO THE PJM REGION

- A. The following standards will be applied by the Office of the Interconnection to determine the eligibility of an entity to become a part of the PJM Region. For an entity to be integrated into the PJM Region it must possess generation and transmission attributes that would enable the entity to share its reserves with other entities in the PJM Region. Appropriate transmission and reliability studies are to be performed to determine the adequate transmission capability necessary to integrate the entity into the PJM Region consistent with Good Utility Practice,
- B. In addition, the entity shall meet the following requirements to be included in the PJM Region:
  - 1. All load, generation and transmission operating as part of the PJM Region's interconnected system must be included within the metered boundaries of the PJM Region.
  - 2. The entity will accept and comply with the PJM Region's standards with respect to system design, equipment ratings, operating practices and maintenance practices as set forth in the PJM Manuals so that sufficient electrical equipment, control capability, information and communication are available to the Office of the Interconnection for planning and operation of the PJM Region.
  - 3. The load, generation and transmission facilities of each entity shall be included in the telemetry to the Office of the Interconnection from a 24-hour control center. Each system operator in these control centers must be trained and delegated sufficient authority to take any action necessary to assure that the system for which the operator is responsible is operated in a stable and reliable manner.
  - 4. Each entity must have compatible operational communication mechanisms, maintained at its expense, to interact with the Office of the Interconnection and for internal requirements.
  - 5. Bach entity must assure the continued compatibility of its local system energy management system monitoring and telecommunications systems to satisfy the technical requirements of interacting with the Office of the Interconnection as it directs the operation of the PJM Region.

Issued By: Craig Glazer Effective: June 1, 2007

Vice President, Federal Government Policy

#### OTHER AGREEMENTS TO BE EXECUTED BY THE PARTIES

- Any agreement for Network Transmission Service or Firm Point-To-Point Service that is required under the PJM Tariff for service consistent with the requirements of Section 9.1(d); and
- The Operating Agreement.

Issued By:

Issued On:

Craig Glazer

Vice President, Federal Government Policy

Effective: June 1, 2007

September 29, 2006

#### GUIDELINES FOR DETERMINING THE FORECAST POOL REQUIREMENT

#### A. Objective Of The Forecast Pool Requirement

The Forecast Pool Requirement shall be determined for the specified Planning Periods to establish the level of Capacity Resources that will provide an acceptable level of reliability consistent with the Reliability Principles and Standards.

# B. Forecast Pool Requirement and PJM Region Installed Reserve Margin To Be Determined Annually

No later than three months in advance of each Base Residual Auction for a Delivery Year, based on the projections described in section C of this Schedule, and after consideration of the recommendation of the Members Committee, the PJM Board shall establish the Forecast Pool Requirement, including the PJM Region Installed Reserve Margin for all Parties, including FRR Entities, for such Delivery Year. Unless otherwise agreed by the PJM Board, the Forecast Pool Requirement and PJM Region Installed Reserve Margin for such Planning Period shall be considered firm and not subject to re-determination thereafter.

#### C. Methodology

Bach year, the Forceast Pool Requirement for at least each of the next five Planning Periods shall be projected by applying suitable probability methods to the data and forceasts provided by the Parties and obtained from Electric Distributors, as described in Schedule 11, the Operating Agreement and in the PJM Manuals. The projection of the Forceast Pool Requirement shall consider the following data and forceasts as necessary:

- 1. Seasonal peak load forecasts for each Planning Period as calculated by PJM in accordance with the PJM Manuals reflecting (a) load forecasts with a 50 percent probability of being too high or too low and (b) summer peak diversities determined by the Office of the Interconnection from recent experience.
- 2. Forecasts of aggregate seasonal load shape of the Parties which are consistent with forecast averages of 52 weekly peak loads prepared by the Parties and obtained from Electric Distributors for their respective systems.
- 3. Variability of loads within each week, due to weather and other recurring and random factors, as determined by the Office of the Interconnection.
- 4. Generating unit capability and types for every existing and proposed unit.
- 5. Generator Forced Outage rates for existing mature generating units, as determined by the Office of the Interconnection, based on data submitted by the Parties for their respective systems, from recent experience, and for immature and proposed

Issued By: Craig Glazer Effective: June 1, 2007

-Vice-President, Fedoral-Government-Policy-

units based upon forecast rates related to unit types, capabilities and other pertinent characteristics.

- 6. Generator Maintenance Outage factors and planned outage schedules as determined by the Office of the Interconnection based on forecasts and historical data submitted by the Parties for their respective systems.
- Miscellaneous adjustments to capacity due to all causes, as determined by the Office of the Interconnection, based on forecasts submitted by the Parties for their respective systems.
- 8. The emergency capacity assistance available as a function of interconnections of the PJM Region with other Control Areas, as limited by the capacity benefit margin considered in the determination of available transfer capability and the probable availability of generation in excess of load requirements in such areas.

#### D. Capacity Benefit Margin

The capacity benefit margin initially shall be 3,500 megawatts. Periodically, in consultation with the Members Committee, the Office of the Interconnection shall review and modify, if necessary, the capacity benefit margin to balance external emergency capacity assistance and internal installed capacity reserves so as to minimize the total cost of the capacity reserves of the Parties, consistent with the Reliability Principles and Standards. The Office of the Interconnection will reflect such modification prospectively in its development of the Porecast Pool Requirement for future Planning Periods.

Issued By: Craig Glazer Effective: June 1, 2007

#### SCHEDULE 4.1

#### DETERMINATION OF THE FORECAST POOL REQUIREMENT

A. Based on the guidelines set forth in Schedule 4, the Forecast Pool Requirement shall be determined as set forth in this Schedule 4.1 on an unforced capacity basis.

IPR = (1 + IRM/100) \* (1- Pool-wide average EFOR<sub>D</sub>/100)

where

- average EFOR<sub>D</sub> = the average equivalent demand forced outage rate for the PIM Region, stated in percent and determined in accordance with Section B hereof
- IRM = the PJM Region Installed Reserve Margin approved by the PJM Board for that Planning Period, stated in percent. Studies by the Office of the Interconnection to determine IRM shall not exclude outages that are deemed to be outside plant management control under NERC guidelines.
- B. The PIM Region equivalent demand forced outage rate ("average EFOR<sub>D</sub>") shall be determined as the capacity weighted EFOR<sub>D</sub> for all units expected to serve loads within the PIM Region during the Delivery Year, as determined pursuant to Schedule 5.

Issued By: Craig Glazer Effective: June 20, 2007

...Vice President, Rederal Government Policy

Issued On: June 19, 2007

# SCHEDULE 5 FORCED OUTAGE RATE CALCULATION

A. The equivalent demand forced outage rate ("EFORD") shall be calculated as follows:

 $EFOR_D$  (%) = {( $f_f * FOH + f_o * EFPOH$ ) / (SH +  $f_f * FOH$ )} \* 100

where

f<sub>f</sub>=full outage factor
f<sub>p</sub> = partial outage factor
FOH = full forced outage hours
EFPOH = equivalent forced partial outage hours
SH = service hours

B. Calculation of BFORD for individual Generation Capacity Resources.

For each Delivery Year, EFORD shall be calculated at least one month prior to the start of the Third Incremental Auction for: (i) each Generation Capacity Resource for which a sell offer will be submitted in such Third Incremental Auction; and (ii) each Generation Capacity Resource previously committed to serve load in such Delivery Year pursuant to an FRR Capacity Plan or prior auctions for such Delivery Year. Such calculation shall be based upon such resource's service history in the twelve (12) consecutive months ending September 30 last preceding such auction. Historical data shall be based on official reports of the Parties under rules and practices set forth in the PJM Manuals. Such rate shall also include (i) an adjustment, if any, for capacity unavailable due to energy limitations determined in accordance with definitions and criteria set forth in the PJM Manuals and (ii) any other adjustments approved by the Members Committee to adjust the parameters of a designated unit. For purposes of the calculations under this Paragraph B, ontages deemed to be outside plant management control in accordance with NERC guidelines shall not be considered.

- 1. The EFORD of a unit in service twelve or more full calendar months prior to the calculation month shall be the average rate experienced by such unit during the twelve-month period specified above. Historical data shall be based on official reports of the Parties under rules and practices set forth in the PJM Manuals.
- 2. The BFORD of a unit in service at least one full calendar month but less than the twolve-month period specified above shall be the average of the EFORD experienced by the unit weighted by full months of service, and the class average rate for units with that capability and of that type weighted by a factor of [(twelve) minus (the number of months the unit was in service)]. Historical data shall be based on official reports of the Parties under rules and practices set forth in the PJM Manuals.
- C. Calculation of average BFORD for the PJM Region

The forecast average EFORD for the PIM Region in a Delivery Year shall be the average of the forced outage rates, weighted for unit capability and expected time in service,

Issued By: Craig Glazer Effective: June 1, 2007

-Vice-President,-Federal-Government-Policy-

Issued On: Sentember 29, 2006

attributable to all of the Generation Capacity Resources within the PJM Region, that are planned to be in service during the Delivery Year, including Generation Capacity Resources purchased from specified units and excluding Generation Capacity Resources sold outside the PJM Region from specified units. Such rate shall also include (i) an adjustment, if any, for capacity unavailable due to energy limitations determined in accordance with definitions and criteria set forth in the PJM Manuals and (ii) any other adjustments developed by the Office of Interconnection and maintained in the PJM Manuals to adjust the parameters of a designated unit when such parameters are or will be used to determine a future PJM Region reserve requirement and such adjustment is required to more accurately predict the future performance of such unit in light of extraordinary circumstances. For the purposes of this Schedule, the average EFORD shall be the average of the capacity-weighted EFORDs of all units committed to serve load in the PIM Region; and for purposes of the BFORD calculations under this Paragraph C for any Delivery Year beginning after May 31, 2010, outages deemed to be outside plant management control in accordance with NERC guidelines shall not be considered. All rates shall be in percent.

- The BFORD of a unit not yet in service or which has been in service less than one
  full calendar year at the time of forecast shall be the class average rate for units
  with that capability and of that type, as estimated and used in the calculation of
  the Forecast Pool Requirement.
- 2. The BFORD of a unit in service five or more full calendar years at the time of forecast shall be the average rate experienced by such unit during the five most recent calendar years. Historical data shall be based on official reports of the Parties under rules and practices developed by the Office of Interconnection and maintained in the PIM Manuals.
- 3. The EFORD of a unit in service at least one full calendar year but less than five full calendar years at the time of the forecast shall be determined as follows:

## Full Calendar Years of Service

1	One-fifth the rate experienced during the calendar year, plus four-fifths the class average rate.
2	Two-fifths the average rate experienced during the two calendar years; plus three-fifths the class average rate.
3	Three-fifths the average rate experienced during the three calendar years, plus two-fifths the class average rate.
4 .	Four-fifths the average rate experienced during the four calendar years, plus one-fifth the class average rate.

Issued By:

Craig Glazer

Effective: June 20, 2007

Vice President, Federal Government Policy

### PROCEDURES FOR DEMAND RESOURCES, ILR, AND ENERGY EFFICIENCY

- A. Parties can partially or wholly offset the amounts payable for the Locational Reliability Charge with Demand Resources or ILR that are operated under the direction of the Office of the Interconnection. FRR Entities may reduce their capacity obligations with Demand Resources that are operated under the direction of the Office of the Interconnection and detailed in such entity's FRR Capacity Plan. Demand Resources qualifying under the criteria set forth below may be offered for sale or designated as Sclf-Supply in the Base Residual Auction, included in an FRR Capacity Plan, or offered for sale in any Incremental Auction, for any Delivery Year for which such resource qualifies. In addition, for Delivery Years through May 31, 2012, resources qualifying under the criteria set forth below may be certified as ILR on behalf of a Party that has not elected the FRR Alternative for a Delivery Year no later than three months prior to the first day of such Delivery Year. Qualified Demand Resources and ILR generally fall in one of three categories, i.e., Guaranteed Load Drop, Firm Service Level, or Direct Load Control, as further specified in section H and the PJM Manuals. Qualified Demand Resources and ILR may be provided by a Demand Resource Provider or ILR Provider (hereinafter, "Provider"), notwithstanding that such Provider is not a Party to this Agreement. Such Providers must satisfy the requirements in section I and the PJM Manuals.
  - 1. A Party must formally notify, in accordance with the requirements of the PJM Manuals and paragraph G of this schedule as applicable, the Office of the Interconnection of the Demand Resource or ILR that it is placing under the direction of the Office of the Interconnection.
  - 2. A Party must agree to reserve, for interruption at the direction of the Office of the Interconnection, at least 10 interruptions per Planning Period.
  - 3. The Demand Resource or ILR must be available during the summer period of June through September in the corresponding Delivery Year to be certified, offered for sale or Self-Supplied in an auction, or included as a Demand Resource in an FRR Capacity Plan for the corresponding Delivery Year.
  - 4. A period of no more than 2 hours prior notification must apply to interruptible customers.
  - 5. The initiation of load interruption, upon the request of the Office of the Interconnection, must be within the authority of the dispatchers of the Party. No additional approvals should be required.
  - 6. The initiation of load reduction upon the request of the Office of the Interconnection is considered an emergency action and must be implementable prior to a voltage reduction.

Issued By: Craig Glazer

Vice President, Federal Government Policy

Issued On: December 12, 2008

Effective: March 27, 2009

- 7. A Party must agree to reserve interruptions of at least 6-hour duration. As a minimum, such 6-hour duration for interruptions should be available on weekdays during the 8-hour daily peak window for the appropriate season. There will be no credit given to Parties who choose to provide interruption less than 6 hours and/or exclusive of the above time period.
- 8. An entity offering for sale, designating for self-supply, or including in any FRR Capacity Plan any Planned Demand Resource must demonstrate, in accordance with standards and procedures set forth in the PJM Manuals, that such resource shall have the capability to provide a reduction in demand, or otherwise control load, on or before the start of the Delivery Year for which such resource is committed. Providers of Planned Demand Resources must provide a timeline including the milestones, which demonstrates to PJM's satisfaction that the Planned Demand Resources will be available for the start of the Delivery Year, 45 days prior to a Base Residual Auction or Incremental Auction. PJM may verify the Provider's adherence to the timetable at any time.
- 9. Selection of a Demand Resource in an RPM Auction results in commitment of capacity to the PJM Region. Demand Resources that are so committed must be registered to participate in the Pull Program Option of the Emergency Load Response program and thus available for dispatch during PJM-declared emergency events.
- B. The Unforced Capacity value of a Demand Resource and ILR will be determined as:

the product of the Nominated Value of the Demand Resource, or the Nominated Value of the ILR, times the DR Factor, times the Forecast Pool Requirement. Nominated Values shall be determined and reviewed in accordance with sections J and K, respectively, and the PJM Manuals. The DR Factor is a factor established by the PJM Board with the advice of the Members Committee to reflect the increase in the peak load carrying capability in the PJM Region due to Demand Resources and ILR. Peak load carrying capability is defined to be the peak load that the PJM Region is able to serve at the loss of load expectation defined in the Reliability Principles and Standards. The DR Factor is the increase in the peak load carrying capability in the PJM Region due to Demand Resources and ILR, divided by the total Nominated Value of Demand Resources and ILR in the PJM Region. The DR Factor will be determined using an analytical program that uses a probabilistic approach to determine reliability. The determination of the DR Factor will consider the reliability of Demand Resources and ILR, the number of interruptions, and the total amount of load reduction.

Issued By: Craig Glazer

Vice President, Federal Government Policy

Issued On: Decem

zer Effective: March 27, 2009

PJM Interconnection, L.L.C. Rate Schedule FERC No. 44

First Revised Sheet No. 34A Superseding Original Sheet No. 34A

- Demand Resources offered and cleared in a Base Residual or Incremental Auction shall C. receive the corresponding Capacity Resource Clearing Price as determined in such auction, in accordance with Attachment DD of the PJM Tariff. If Demand Resource data is not available on an individual LDA basis in a Zone with multiple LDAs, then Demand Resources will be paid a Weighted Zonal Resource Clearing Price, determined as follows: (i) for a Zone that includes non-overlapping LDAs, calculated as the weighted average of the Resource Clearing Prices for such LDAs, weighted by the Unforced Capacity of Resources Cleared (including capacity receiving Resource Make Whole Payments) in each such LDA; or (ii) for a Zone that contains a smaller LDA within a larger LDA, calculated treating the smaller LDA and the remaining portion of the larger LDA as if they were separate LDAs, and weight-averaging in the same manner as (i) above.
- Certified ILR resources shall receive the Final Zonal ILR Price. D.
- The Party, Electric Distributor, Demand Resource Provider, or ILR Provider that Ε. establishes a contractual relationship (by contract or tariff rate) with a customer for load reductions is entitled to receive the compensation specified in sections C and D for a committed Demand Resource or certified ILR, notwithstanding that such provider is not the customer's energy supplier.
- Any Party hereto shall demonstrate that its Demand Resources or ILR performed during F. periods when load management procedures were invoked by the Office of the Interconnection. The Office of the Interconnection shall adopt and maintain rules and

Issued By:

Craig Glazer

Vice President, Federal Government Policy

Issued On:

Effective: March 27, 2009

PJM Interconnection, L.L.C. Rate Schedule FERC No. 44

procedures for verifying the performance of such resources, as set forth in section L and the PJM Manuals. In addition, committed Demand Resources and certified ILR that do not comply with the directions of the Office of the Interconnection to reduce load during an emergency shall be subject to the penalty charge set forth in Attachment DD to the PJM Tariff.

- G. Parties may elect to place Demand Resources associated with Behind The Meter Generation under the direction of the Office of the Interconnection for a Delivery Year by submitting a Sell Offer for such resource (as Self Supply, or with an offer price) in the Base Residual Auction for such Delivery Year. This election shall remain in effect for the entirety of such Delivery Year. In the event such an election is made, such Behind The Meter Generation will not be netted from load for the purposes of calculating the Daily Unforced Capacity Obligations under this Agreement.
- H. PJM recognizes three types of Demand Resource and ILR:

Direct Load Control (DLC) — Load management that is initiated directly by the Provider's market operations center or its agent, employing a communication signal to cycle equipment (typically water heaters or central air conditioners). DLC programs are qualified based on load research and customer subscription data. Providers may rely on the results of load research studies identified in the PJM Manuals to set the perparticipant load reduction for DLC programs. Each Provider relying on DLC load management must periodically update its DLC switch operability rates, in accordance with the PJM Manuals.

Firm Service Level (FSL) - Load management achieved by a customer reducing its load to a pre-determined level (the Firm Service Level), upon notification from the Provider's market operations center or its agent.

Guaranteed Load Drop (GLD) — Load management achieved by a customer reducing its load by a pre-determined amount (the Guaranteed Load Drop), upon notification from the Provider's market operations center or its agent. Typically, the load reduction is achieved through running customer-owned backup generators, or by shutting down process equipment.

For each type of Demand Resource and ILR above, there can be two notification periods;

Step 1 (Short Lead Time) – Demand Resource or ILR which must be fully implemented in one hour or less from the time the PJM dispatcher notifies the market operations center of a curtailment event.

Step 2 (Long Lead Time) - Demand Resource or ILR which requires more than one hour but no more than two hours, from the time the PJM dispatcher notifies the market operations center of a curtailment event, to be fully implemented,

Issued By: Craig Glazer

Vice President, Federal Government Policy

Issued On: \_\_ February 20, 2007

Filed to comply with order of the Federal energy Regulatory Commission, Docket Nos. BR05-

Effective: June 1, 2007

Effective: June 1, 2007

- Ĭ. Each Provider must satisfy (or contract with another LSB, Provider, or EDC to provide) the following requirements:
  - A point of contact with appropriate backup to ensure single call notification from PJM and timely execution of the notification process;
  - · supplemental status reports, detailing Demand Resources and ILR available, as requested by PJM;
  - Entry of customer-specific Demand Resource and ILR credit information, for planning and verification purposes, into the designated PJM electronic system.
  - Customer-specific compliance and verification information for each PJM-initiated Demand Resource or ILR event, as well as aggregated Provider load drop data for Provider-initiated events, in accordance with established reporting guidelines.
  - Load drop estimates for all Demand Resource or ILR events, prepared in accordance with the PJM Manuals.
- J. The Nominated Value of each Domand Resource or ILR shall be determined consistent with the process for determination of the capacity obligation for the customer.

The Nominated Value for a Firm Service Level customer will be based on the peak load contribution for the customer, as determined by the 5CP methodology utilized to determine other ICAP obligation values. The maximum Demand Resource or ILR load reduction value for a Firm Service Level customer will be equal to Peak Load Contribution - Firm Contract Level adjusted for system losses.

The Nominated Value for a Guaranteed Load Drop customer will be the guaranteed load drop amount, adjusted for system losses, as established by the customer's contract with the Provider. The maximum credit nominated shall not exceed the customer's Peak Load Contribution.

The Nominated Value for a Direct Load Control program will be based on load research and customer subscription. The maximum value of the program is equal to the approved per-participant load reduction multiplied by the number of active participants, adjusted for system losses. The per-participant impact is to be estimated at long-term average local weather conditions at the time of the summer peak.

Customer-specific Demand Resource or ILR information (EDC account number, peak load, notification period, etc.) will be entered into the designated PJM electronic system to establish credit values. Additional data may be required, as defined in sections K and L.

Issued By: Craig Glazer

Vice President, Pederal Government Policy

February 20, 2007 Issued On:

K. Nominated Values shall be reviewed based on documentation of customer-specific data and Demand Resource or ILR information, to verify the amount of load management available, and to set a maximum allowable Nominated Value. Data is provided by both the zone EDC and the Provider on templates supplied by PJM, and must include the EDC meter number or other unique customer identifier, Peak Load Contribution (5CP), contract firm service level or guaranteed load drop values, applicable loss factor, zone/area location of the load drop, LSE contact information, number of active participants, etc. Such data must be uploaded and approved prior to the first day of the Delivery Year for such resource as a Demand Resource, or certification of such resource as ILR. Providers must provide this information concurrently to host EDCs.

For Firm Service Level and Guaranteed Load Drop customers, the 5CP values, for the zone and affected customers, will be adjusted to reflect an "unrestricted" peak for a zone, based on information provided by the Provider. Load drop levels shall be estimated in accordance with guidelines in the PJM Manuals.

For Direct Load Control programs, the Provider must provide information detailing the number of active participants in each program. Other information on approved DLC programs will be provided by PJM.

L. Compliance is the process utilized to review Provider performance during PJM-initiated Demand Resource and ILR events. The process establishes potential under/over compliance values for the Provider. Compliance is event based, i.e., compliance is verified only if an event occurs between June and September.

PJM will establish and communicate reasonable deadlines for the timely submittal of event data to expedite compliance reviews. Compliance reviews will be completed as soon after the event as possible, with the expectation that reviews of a single event will be completed within two months of the end of the month in which the event took place. Providers are responsible for the submittal of compliance information to PJM for each PJM-initiated event during the compliance period. Compliance for Direct Load Control programs will consider only the transmission of the control signal. Providers are required to report the time period (during the Demand Resource and ILR event) that the control signal was actually sent. Compliance is checked on an individual customer basis for FSL, by comparing actual load during the event to the firm service level. Providers must submit actual customer load levels (for the event period) for the compliance report, Compliance is checked on an individual customer basis for GLD, by comparing actual load dropped during the event to the nominated amount of load drop. Providers must submit actual loads and comparison loads for the compliance hours. Comparison loads

Issued By: Craig Glazer

Vice President, Federal Government Policy

Issued On: December 12, 2008

Effective: March 27, 2009

must be developed from the guidelines in the PJM Manuals, and note which method was employed.

Compliance is averaged over the full hours of a Demand Resource and ILR event, for each customer or DLC program. Demand Resource or ILR customers may not reduce their load below zero (i.e., export energy into the system). No compliance credit will be given for an incremental load drop below zero. Compliance will be totaled over all FSL and GLD customers and DLC programs to determine a net compliance position for the event for each Provider by Zone, for all Demand Resources committed and ILR Certified by such Provider in the zone. Deficiencies shall be as further determined in accordance with section 11 of Schedule DD to the PJM Tariff.

# M. Energy Efficiency Resources

- 1. An Energy Efficiency Resource is a project, including installation of more efficient devices or equipment or implementation of more efficient processes or systems, exceeding thencurrent building codes, appliance standards, or other relevant standards, designed to achieve a continuous (during peak periods as described herein) reduction in electric energy consumption that is not reflected in the peak load forecast prepared for the Delivery Year for which the Energy Efficiency Resource is proposed, and that is fully implemented at all times during such Delivery Year, without any requirement of notice, dispatch, or operator intervention.
- An Energy Efficiency Resource may be offered as a Capacity Resource in the Base Residual or Incremental Auctions for any Delivery Year beginning on or after June 1, 2012. No later than 30 days prior to the auction in which the resource is to be offered, the Capacity Market Seller shall submit to the Office of the Interconnection a notice of intent to offer the resource into such auction and a measurement and verification plan. The notice of intent shall include all pertinent project design data, including but not limited to the peak-load contribution of affected customers, a full description of the equipment, device, system or process intended to achieve the load reduction, the load reduction pattern, the project location, the project development timeline, and any other relevant data. Such notice also shall state the seller's proposed Nominated Energy Efficiency Value, which shall be the expected average load reduction between the hour ending 15:00 EPT and the hour ending 18:00 EPT during all days from June 1 through August 31, inclusive, of such Delivery Year that is not a weekend or federal holiday. The measurement and verification plan shall describe the methods and procedures, consistent with the PJM Manuals, for determining the amount of the load reduction and confirming that such reduction is achieved. The Office of the Interconnection shall determine, upon review of such notice, the Nominated Energy Efficiency Value that may be offered in the Reliability Pricing Model Auction.
  - 3. An Energy Efficiency Resource may be offered with a price offer or as Self-Supply. If an Energy Efficiency Resource clears the auction, it shall receive the applicable Capacity Resource Clearing Price, subject to section 5 below. A Capacity Market Seller offering an Energy Efficiency Resource must comply with all applicable credit requirements as set forth in Attachment Q to the PJM Tariff. The Unforced Capacity value of an Energy Efficiency Resource offered into an RPM Auction shall be the Nominated Energy Efficiency value times the DR Factor and the Forecast Pool Requirement.

Issued By: Cra

Craig Glazer

Effective: March 27, 2009

Effective: March 27, 2009

- 4. An Energy Efficiency Resource that clears an auction for a Delivery Year may be offered in auctions for up to three additional consecutive Delivery Years, but shall not be assured of clearing in any such auction; provided, however, an Energy Efficiency Resource may not be offered for any Delivery Year in which any part of the peak season is beyond the expected life of the equipment, device, system, or process providing the expected load reduction; and provided further that a Capacity Market Seller that offers and clears an Energy Efficiency Resource in a BRA may elect a New Entry Price Adjustment on the same terms as set forth in section 5.14(e) of this Attachment DD, except that the Commitment Period may not exceed three consecutive Delivery Years following the Delivery Year associated with the first BRA in which such resource was offered and cleared.
- 5. For every Energy Efficiency Resource clearing an RPM Auction for a Delivery Year, the Capacity Market Seller shall submit to the Office of the Interconnection, by no later than 30 days prior to each Auction an updated project status and measurement and verification plan subject to the criteria set forth in the PJM Manuals.
- 6. For every Energy Efficiency Resource clearing an RPM Auction for a Delivery Year, the Capacity Market Seller shall submit to the Office of the Interconnection, by no later than the start of such Delivery Year, an updated project status and detailed measurement and verification data meeting the standards for precision and accuracy set forth in the PJM Manuals. The final value of the Energy Efficiency Resource during such Delivery Year shall be as determined by the Office of the Interconnection based on the submitted data.
- 7. The Office of the Interconnection may audit, at the Capacity Market Seller's expense, any Energy Efficiency Resource committed to the PJM Region. The audit may be conducted any time including the Performance Hours of the Delivery Year.

Issued By: Craig Glazer

Vice President, Federal Government Policy

Issued On: April 27, 2009

Filed to comply with order of the Federal Regulatory Commission, Docket Nos. ER05-1410-000 et al., issued

### PLANS TO MEET OBLIGATIONS

- A. Each Party that elects to meet its estimated obligations for a Delivery Year by Self-Supply of Capacity Resources shall submit to the Office of the Interconnection, no later than one month prior to the start of the Base Residual Auction for such Delivery Year, its plans for such Capacity Resources, including (1) installation of Generation Capacity Resources (2) purchases, and (3) installation of Demand Resources, Energy Efficiency measures, or ILR.
- B. The Capacity Resource plans of each Party shall indicate the nature and current status of each resource, including the status of a Planned Generation Capacity Resource or Planned Demand Resource, the potential for deactivation or retirement of a Generation Capacity Resource or Demand Resource, and the status of commitments for each sale or purchase of capacity included in its plans. The Office of the Interconnection will review the adequacy of the submittals hereunder both as to timing and content.
- C. A Party that Self-Supplies Capacity Resources to satisfy its obligations for a Delivery Year must submit a Sell Offer as to such resource in the Base Residual Auction for such Delivery Year, in accordance with Attachment DD to the PJM Tariff.
- D. If, at any time after the close of the Third Incremental Auction for a Delivery Year, including at any time during such Delivery Year, a Capacity Resource that a Party has committed as a Self-Supplied Capacity Resource becomes physically incapable of delivering capacity or reducing load, the Party may submit a replacement Capacity Resource to the Office of the Interconnection. Such replacement Capacity Resource (1) may not be previously committed for such Delivery Year, (2) shall be capable of providing the same quantity of megawatts of capacity or load reduction as the originally committed Capacity Resource, and (3) shall meet the same locational requirements, if applicable, as the originally committed resource. In accordance with Attachment DD to the PJM Tariff, the Office of the Interconnection shall determine the acceptability of the replacement Capacity Resource.

### DETERMINATION OF UNFORCED CAPACITY OBLIGATIONS

A. For each billing month during a Delivery Year, the Daily Unforced Capacity Obligation of a Party that has not elected the FRR Alternative for such Delivery Year shall be determined on a daily basis for each Zone as follows:

Daily Unforced Capacity Obligation = OPL x Final Zonal RPM Scaling Factor x FPR

Where:

OPL = Obligation Peak Load, defined as the daily summation of the weather-adjusted coincident summer peak, last preceding the Delivery Year, of the end-users in such Zone (act of operating Behind The Meter Generation, but not to be less than zero) for which such Party was responsible on that billing day, as determined in accordance with the procedures set forth in the PJM Manuals

Final Zonal RPM Scaling Factor = the factor determined as set forth in sections B and C of this Schedule

FPR = the Forecast Pool Requirement

Notting of Behind the Meter Generation for a Party with regard to Non-Retail Behind the Meter Generation shall be subject to the following limitation:

For the 2006/2007 Planning Period, 100 percent of the operating Non-Retail Behind the Meter Generation shall be netted, provided that the total amount of Non-Retail Behind the Meter Generation in the PJM Region does not exceed 1500 megawatts ("Non-Retail Threshold"). For each Planning Period/Delivery Year thereafter, the Non-Retail threshold shall be proportionately increased based on load growth in the PJM Region but shall not be greater than 3000 megawatts. Load growth shall be determined by the Office of the Interconnection based on the most recent forceasted weather-adjusted coincident summer peak for the PIM Region divided by the weather-adjusted coincident peak for the previous summer for the same area. After the load growth factor is applied, the Non-Retail Threshold will be rounded up or down to the nearest whole megawatt and the rounded number shall be the Non-Retail Threshold for the current Planning Period and the base amount for calculating the Non-Retail Threshold for the succeeding planning period. If the Non-Retail Threshold is exceeded, the amount of operating Non-Retail Behind the Meter Generation that a Party may not shall be adjusted according to the following formula:

Issued By: C

Craig Glazer

Effective: June 1, 2007

Second Revised Sheet No. 38 Superseding First Revised Sheet No. 38

Party Netting Credit = (NRT/PJM NRBTMG) \* Party Operating NRBTMG

Where: NRBTMG is Non-Retail Behind the Meter Generation

NRT is the Non-Retail Threshold

PJM NRBTMG is the total amount of Non-Retail Behind the Meter Generation in the PJM Region

The total amount of Non-Retail Behind the Meter Generation that is eligible for netting in the PJM Region is 3000 megawatts. Once this 3000 megawatt limit is reached, any additional Non-Retail Behind the Meter Generation which operates in the PJM Region will be ineligible for netting under this section.

In addition, the Party NRBTMG Netting Credit shall be adjusted pursuant to Schedule 16 of this Agreement, if applicable.

A Party shall be required to report to PJM such information as is required to facilitate the determination of its NRBTMG Netting Credit in accordance with the procedures set forth in the PJM Manuals.

B. Following the Base Residual Auction for a Delivery Year, the Office of the Interconnection shall determine the Base Zonal RPM Scaling Factor and the Base Zonal Unforced Capacity Obligation for each Zone for such Delivery Year as follows:

Base Zonal Unforced Capacity Obligation = (ZWNSP \* Base Zonal RPM Scaling Factor \* FPR) · Porceast Zonal ILR Obligation (for Delivery Years through May 31, 2012) or Zonal Short-Term Resource Procurement Target (for Delivery Years thereafter)

and

Base Zonal RPM Scaling Factor = ZPLDY/ZWNSP x [RUCO / (RPLDY x FPR)]

Where:

ZPLDY = Preliminary Zonal Peak Load Porecast for such Delivery Year

ZWNSP = Zonal Weather-Normalized Summer Peak for the summer season concluding four years prior to the commencement of such Delivery

RUCO = the RTO Unforced Capacity Obligation satisfied in the Base Residual Auction for such Delivery Year.

RPLDY = RTO Preliminary Peak Load Forecast for such Delivery Year.

Issued By:

Craig Glazer

Effective: March 27, 2009

Vice President, Federal Government Policy

Issued On: Dece

December 12, 2008

First Revised Sheet No. 39 Superseding Original Sheet No. 39

Effective: March 27, 2009

For purposes of such determination, PJM shall determine the Preliminary RTO Peak Load Forecast, and the Preliminary Zonal Peak Load Forecasts for each Zone, in accordance with the PJM Manuals for each Delivery Year no later than one month prior to the Base Residual Auction for such Delivery Year. PJM shall determine the Updated RTO and Zonal Peak Load Forceasts in accordance with the PJM Manuals for each Delivery Year no later than one month prior to each of the First, Second, and Third Incremental Auctions for such Delivery Year. PJM shall determine the most recent Weather Normalized Summer Peak for each Zone no lator than seven months prior to the start of the Delivery Year, and shall calculate the RTO Weather Normalized Summer Peak as the sum of the Weather Normalized Summer Peaks for all Zones.

- The Final RTO Unforced Capacity Obligation for a Delivery Year shall be equal to the C. sum of the unforced capacity obligations satisfied through the Base Residual Auction and the First, Second, Third, and any Conditional Incremental Auctions for such Delivery Year. The unforced capacity obligation satisfied in an Incremental Auction may be negative if capacity is decommitted in such auction. The Final Zonal Unforced Capacity Obligation for a Zone shall be equal to such Zone's pro rata share of the Final RTO Unforced Capacity Obligation for the Delivery Year based on the Final Zonal Peak Load Forecast made one month prior to the Third Incremental Auction The Final Zonal RPM Scaling Factor shall be equal to the Pinal Zonal Unforced Capacity Obligation divided by (IPR times the Zonal Weather Normalized Summer Peak for the summer concluding prior to the commencement of such Delivery Year).
- D. No later than five months prior to the start of each Delivery Year, the Electric Distributor for a Zone shall allocate the most recent Weather Normalized Summer Peak for such Zone to determine the Obligation Peak Load for each end-use customer within such Zone.
  - During the Delivery Year, no later than 36 hours prior to the start of each operating day, the Electric Distributor shall provide to PJM for each Party to this Agreement serving load in such Blectric Distributor's Zone the Obligation Peak Load for all end-use customers served by such Party in such Zone. The daily Unforced Capacity Obligation of a Party for such Operating Day shall not be subject to change thereafter.
  - For purposes of such allocations, the daily sum of the Obligation Peak Loads of 3. all Parties serving load in a Zone must equal the Zonal Obligation Peak Load for such Zone.

Issued By: Craig Glazer

Vice President, Federal Government Policy

Issued On:\_\_\_

December 12, 2008\_\_\_\_\_

### SCHEDULE 8.1

### FIXED RESOURCE REQUIREMENT ALTERNATIVE

The Fixed Resource Requirement ("FRR") Alternative provides an alternative means, ۸. under the terms and conditions of this Schedule, for an eligible Load-Serving Entity to satisfy its obligation hereunder to commit Unforced Capacity to ensure reliable service to loads in the PJM Region.

#### B. Eligibility

- Except as provided in subsection B.3 below, a Party is eligible to select the FRR 1. Alternative if it (a) is an IOU, Electric Cooperative, or Public Power Butity; and (b) demonstrates the capability to satisfy the Unforced Capacity obligation for all load in an FRR Service Area, including all expected load growth in such area, for the term of such Party's participation in the FRR Alternative.
- 2. A Party eligible under B.1 above may select the FRR Alternative only as to all of its load in the PJM Region; provided however, that a Party may select the FRR Alternative for only part of its load in the PJM Region if (a) the Party elects the FRR Alternative for all load (including all expected load growth) in one or more FRR Service Areas; (b) the Party complies with the rules and procedures of the Office of the Interconnection and all relevant Electric Distributors related to the metering and reporting of load data and settlement of accounts for separate FRR Service Areas; and (c) the Party separately allocates its Capacity Resources to and among FRR Service Areas in accordance with rules specified in the PJM Manuals.
- Single Customer LSEs as identified in accordance with subsection B.3.a below shall be oligible to elect the FRR Alternative upon the terms and conditions of this Schedule and the following additional terms and conditions. The aggregate Obligation Peak Load of all Single Customer LSBs electing the FRR Alternative in the PIM Region shall not exceed 1000 MW.
  - a) Single-Customer LSEs eligible for the FRR Alternative shall be limited to those that elected the FRR Alternative on or before April 1, 2008. The Office of the Interconnection, as necessary, shall establish and post in the PJM Manuals openseason procedures to apportion the maximum allowed service under the FRR Alternative among interested Single-Customer LSEs.
  - b) The Single-Customer LSB must install and maintain wholesale metering at each location that is monitored by, and regularly reported to, the Office of the Interconnection.
  - Each Single-Customer LSE warrants that (i) it has and shall maintain and enforce c) the contract right during the term of its election of the FRR Alternative to prohibit

Issued By: Craig Glazer

Effective: June 1, 2007 Vice President, Federal Government Policy

January 22, 2007

Issued On: -Piled-to-comply-with-order-of-the-Federal-Bnergy-Regulatory-Commission, Docket Nos. ER05-1410, EL05-148, issued on December 22, 2006, 117 FERC ¶ 61,331.

its retail customer(s) from terminating service from the Single-Customer LSE and obtaining such service from a different LSE; and (ii) it has and shall maintain for such term Financial Security or a Corporate Guaranty, both as defined in Attachment Q to the PJM Tariff, in an amount sufficient to cover any charge assessed under subsection B.3.e. A Single-Customer LSE will not violate its requirement under this subsection in the event that the retail customer terminates its service from the Single-Customer LSE and obtains service from an LSE that is an FRR Entity, provided that the Single-Customer LSE assigns Capacity Resources to the LSE providing such service in an amount equal to the Daily Unforced Capacity Obligation related to such retail customer.

- d) Hach Single-Customer LSE shall obtain from its retail customer(s) and provide to the Office of the Interconnection and the entity designated under state law, order, or rule as such customer's default service provider or provider of last resort and the Electric Distributor a written statement agreeing that in the event such customer terminates its service from the Single-Customer LSE and obtains such service from a Party that is not an FRR Entity, then such customer's load shall be treated as ILR for the remaining duration of the period for which such Single-Customer LSE had elected the FRR Alternative, that for such purpose the Electric Distributor is authorized to obtain certification of such load as ILR, and that the customer agrees to provide the Electric Distributor with all information required for such certification. Nothing in this provision shall preclude such customer from using its owned or controlled generation to facilitate the interruption of its load as ILR.
- e) A Single-Customer LSE shall be assessed an Unauthorized Load Transfer Charge in the event such LSEs retail customer terminates its service from such LSE and obtains service from a Party that has not elected the FRR Alternative, or in the event such load transfer occurs to a Party that has elected the FRR Alternative, but the Single-Customer LSE does not transfer sufficient Capacity Resources as required by subsection B.3.c. Such charge shall equal two times the Cost of New Entry times the Daily Unforced Capacity Obligation related to such customer for the remaining duration of the period for which such Single-Customer LSE elected the FRR Alternative.
- f) Bach Single Customer LSE shall provide to the Office of the Interconnection an FRR Capacity Plan in accordance with this schedule. Such FRR Capacity Plan, in addition to complying with all other applicable requirements of this Schedule, shall identify and commit for at least five delivery years Capacity Resources sufficient to satisfy such LSEs Daily Unforced Capacity Obligations hereunder consisting of generation assets or physical supply contracts that qualify as a 'forward contract' or a 'commodity contract' under the U.S. Bankruptcy Code. Each Single-Customer LSE warrants that all generation assets and forward supply contracts included in its FRR Capacity Plan shall be assigned to any successor-in-interest of its retail customer(s)'s assets and operations.

Issued By:

Craig Glazer

Vice President, Federal Government Policy

Issued On: Septen

Effective: June 1, 2007

## C. Election, and Termination of Election, of FRR Alternative

- 1. No less than two months before the conduct of the Base Residual Auction for the first Delivery Year for which such election is to be effective, any Party seeking to elect the FRR Alternative shall notify the Office of the Interconnection in writing of such election. Such election shall be for a minimum term of five consecutive Delivery Years. No later than one month before such Base Residual Auction, such Party shall submit its FRR Capacity Plan demonstrating its commitment of Capacity Resources for the term of such election sufficient to meet such Party's Daily Unforced Capacity Obligation (and all other applicable obligations under this Schedule) for the load identified in such plan.
- 2. An FRR Entity may terminate its election of the FRR Alternative effective with the commencement of any Delivery Year following the minimum five Delivery Year commitment by providing written notice of such termination to the Office of the Interconnection no later than two months prior to the Base Residual Auction for such Delivery Year. An FRR Butty that has terminated its election of the FRR Alternative shall not be eligible to re-elect the FRR Alternative for a period of five consecutive Delivery Years following the effective date of such termination.
- 3. Notwithstanding subsections C.1 and C.2 of this Schedule, in the event of a State Regulatory Structural Change, a Party may elect, or terminate its election of, the FRR Alternative effective as to any Delivery Year by providing written notice of such election or termination to the Office of the Interconnection in good faith as soon as the Party becomes aware of such State Regulatory Structural Change but in any event no later than two months prior to the Base Residual Auction for such Delivery Year.
- 4. To facilitate the elections and notices required by this Schedule, the Office of the Interconnection shall post, in addition to the information required by Section 5.11(a) of Attachment DD to the PJM Tariff, the percentage of Capacity Resources required to be located in each Locational Deliverability Area by no later than one month prior to the deadline for a Party to provide such elections and notices.

### D. FRR Capacity Plans

- 1. Each FRR Entity shall submit its initial FRR Capacity Plan as required by subsection C.1 of this Schedule, and shall annually extend and update such plan by no later than one month prior to the Base Residual Auction for each succeeding Delivery Year in such plan. Each FRR Capacity Plan shall indicate the nature and current status of each resource, including the status of each Planned Generation Capacity Resource or Planned Demand Resource, the planned deactivation or retirement of any Generation Capacity Resource or Demand Resource, and the status of commitments for each sale or purchase of capacity included in such plan.
- 2. The FRR Capacity Plan of each FRR Entity that commits that it will not sell surplus Capacity Resources as a Capacity Market Seller in any auction conducted under Attachment DD of the PJM Tariff, or to any direct or indirect purchaser that uses such resource as the basis of any Sell Offer in such auction, shall designate Capacity Resources in a megawatt quantity no less than the Forecast Pool Requirement for each applicable Delivery Year times the FRR Entity's allocated share of the Preliminary Zonal Peak Load Forecast for such Delivery

Issued By: Craig Glazer Effective: June 1, 2007

Year, as determined in accordance with procedures set forth in the PJM Manuals. If the FRR Entity is not responsible for all load within a Zone, the Preliminary Forecast Peak Load for such entity shall be the FRR Entity's Obligation Peak Load last determined prior to the Base Residual Auction for such Delivery Year, times the Base Zonal FRR Scaling Factor. The FRR Capacity Plan of each FRR Entity that does not commit that it will not sell surplus Capacity Resources as set forth above shall designate Capacity Resources at least equal to the Threshold Quantity. To the extent the FRR Entity's allocated share of the Final Zonal Peak Load Forecast exceeds the FRR Entity's allocated share of the Preliminary Zonal Peak Load Forecast, such FRR Entity's FRR Capacity Plan shall be updated to designate additional Capacity Resources in an amount no less than the Forecast Pool Requirement times such increase; provided, however, any excess megawatts of Capacity Resources included in such FRR Entity's previously designated Threshold Quantity, if any, may be used to satisfy the capacity obligation for such increased load.

3. As to any FRR Entity, the Base Zonal FRR Scaling Factor for each Zone in which it serves load for a Delivery Year shall equal ZPLDY/ZWNSP, where:

ZPLDY = Preliminary Zonal Peak Load Forecast for such Zone for such Delivery Year; and

ZWNSP = Zonal Weather-Normalized Summer Peak Load for such Zone for the summer concluding four years prior to the commencement of such Delivery Year.

- Capacity Resources identified and committed in an FRR Capacity Plan shall meet all requirements under this Agreement and the PJM Operating Agreement applicable to Capacity Resources, including, as applicable, requirements and milestones for Planned Generation Capacity Resources and Planned Demand Resources. A Capacity Resource submitted in an FRR Capacity Plan must be on a unit-specific basis, and may not include "slice of system" or similar agreements that are not unit specific. An FRR Capacity Plan may include bilateral transactions that commit capacity for less than a full Delivery Year only if the resources included in such plan in the aggregate satisfy all obligations for all Delivery Years. All demand response, load management, energy efficiency, or similar programs on which such FRR Entity intends to rely for a Delivery Year must be included in the FRR Capacity Plan submitted three years in advance of such Delivery Year and must satisfy all requirements applicable to Demand Resources or Energy Efficiency Resources, as applicable, including, without limitation, those set forth in Schedule 6 to this Agreement and the PJM Manuals; provided, however, that previously uncommitted Unforced Capacity from such programs may be used to satisfy any increased capacity obligation for such FRR Butity resulting from a Final Zonal Peak Load Forecast applicable to such FRR Entity.
- 5. For each LDA for which the Office of the Interconnection has established a separate Variable Resource Requirement Curve for any Delivery Year addressed by such FRR Capacity Plan, the plan must include a minimum percentage of Capacity Resources for such Delivery Year located within such LDA. Such minimum percentage ("Percentage Internal Resources Required") will be calculated as the LDA Reliability Requirement less the CETL for the Delivery Year, as determined by the RTEP process as set forth in the PJM Manuals. Such requirement shall be expressed as a percentage of the Unforced Capacity Obligation based on the Preliminary Zonal Peak Load Forecast multiplied by the Forecast Pool Requirement.

Issued By: Craig Glazer Effective: March 27, 2009

-Vice-President,-Federal-Government-Policy-

- 6. An FRR Entity may reduce such minimum percentage as to any LDA to the extent the FRR Entity commits to a transmission upgrade that increases the capacity emergency transfer limit for such LDA. Any such transmission upgrade shall adhere to all requirements for a Qualified Transmission Upgrade as set forth in Attachment DD to the PJM Tariff. The increase in CETL used in the FRR Capacity Plan shall be that approved by PJM prior to inclusion of any such upgrade in an FRR Capacity Plan. The FRR Entity shall designate specific additional Capacity Resources located in the LDA from which the CETL was increased, to the extent of such increase.
- 7. The Office of the Interconnection will review the adequacy of all submittals hereunder both as to timing and content. A Party that seeks to elect the FRR Alternative that submits an FRR Capacity Plan which, upon review by the Office of the Interconnection, is determined not to satisfy such Party's capacity obligations hereunder, shall not be permitted to elect the FRR Alternative. If a previously approved FRR Entity submits an FRR Capacity Plan that, upon review by the Office of the Interconnection, is determined not to satisfy such Party's capacity obligations hereunder, the Office of the Interconnection shall notify the FRR Entity, in writing, of the insufficiency within five (5) business days of the submittal of the FRR Capacity Plan. If the FRR Entity does not cure such insufficiency within five (5) business days after receiving such notice of insufficiency, then such FRR Entity shall be assessed an FRR Commitment Insufficiency Charge, in an amount equal to two times the Cost of New Entry for the relevant location, in \$/MW-day, times the shortfall of Capacity Resources below the FRR Entity's capacity obligation (including any Threshold Quantity requirement) in such PRR Capacity Plan, for the remaining term of such plan.
- 8. In a state regulatory jurisdiction that has implemented retail choice, the FRR Entity must include in its FRR Capacity Plan all load, including expected load growth, in the FRR Service Area, notwithstanding the loss of any such load to or among alternative retail LSEs. In the case of load reflected in the FRR Capacity Plan that switches to an alternative retail LSE, where the state regulatory jurisdiction requires switching customers or the LSE to compensate the FRR Entity for its FRR capacity obligations, such state compensation mechanism will prevail. In the absence of a state compensation mechanism, the applicable alternative retail LSE shall compensate the FRR Entity at the capacity price in the unconstrained portions of the PJM Region, as determined in accordance with Attachment DD to the PJM Tariff, provided that the FRR Entity may, at any time, make a filing with FERC under Sections 205 of the Federal Power Act proposing to change the basis for compensation to a method based on the FRR Entity's cost or such other basis shown to be just and reasonable, and a retail LSE may at any time exercise its rights under Section 206 of the FPA.
- 9. Notwithstanding the foregoing, in lieu of providing the compensation described above, such alternative retail LSE may, for any Delivery Year subsequent to those addressed in the PRR Entity's then-current FRR Capacity Plan, provide to the FRR Entity Capacity Resources sufficient to meet the capacity obligation described in paragraph D.2 for the switched load. Such Capacity Resources shall meet all requirements applicable to Capacity Resources pursuant to this Agreement and the PJM Operating Agreement, all requirements applicable to resources committed to an FRR Capacity Plan under this Agreement, and shall be committed to service to the switched load under the FRR Capacity Plan of such FRR Entity. The alternative retail LSE shall provide the FRR Entity all information needed to fulfill these requirements and permit the

Issued By: Craig Glazer

Effective: June 1, 2007

PJM Interconnection, L.L.C. Rate Schedule FERC No. 44

First Revised Sheet No. 45 Superseding Original Sheet No. 45

resource to be included in the FRR Capacity Plan. The alternative retail LSE, rather than the FRR Entity, shall be responsible for any performance charges or compliance penalties related to the performance of the resources committed by such LSE to the switched load. For any Delivery Year, or portion thereof, the foregoing obligations apply to the alternative retail LSE serving the load during such time period. PJM shall manage the transfer accounting associated with such compensation and shall administer the collection and payment of amounts pursuant to the compensation mechanism.

Such load shall remain under the FRR Capacity Plan until the effective date of any termination of the FRR Alternative and, for such period, shall not be subject to Locational Reliability Charges under Section 7.2 of this Agreement.

### E. Conditions on Purchases and Sales of Capacity Resources by FRR Entities

- 1. An FRR Entity may not include in its FRR Capacity Plan for any Delivery Year any Capacity Resource that has cleared in any auction under Attachment DD of the PJM Tariff for such Delivery Year. Nothing herein shall preclude an FRR Entity from including in its FRR Capacity Plan any Capacity Resource that has not cleared such an auction for such Delivery Year. Furthermore, nothing herein shall preclude an FRR Entity from including in its FRR Capacity Plan a Capacity Resource obtained from a different FRR Entity, provided, however, that each FRR Entity shall be individually responsible for meeting its capacity obligations hereunder, and provided further that the same megawatts of Unforced Capacity shall not be committed to more than one FRR Capacity Plan for any given Delivery Year.
- 2. An FRR Entity that designates Capacity Resources in its FRR Capacity Plan(s) for a Delivery Year based on the Threshold Quantity may offer to sell Capacity Resources in excess of that needed for the Threshold Quantity in any auction conducted under Attachment DD of the PJM Tariff for such Delivery Year, but may not offer to sell Capacity Resources in the auctions for any such Delivery Year in excess of an amount equal to the lesser of (a) 25% times the Unforced Capacity equivalent of the Installed Reserve Margin for such Delivery Year multiplied by the Preliminary Porecast Peak Load for which such FRR Entity is responsible under its FRR Capacity Plan(s) for such Delivery Year, or (b) 1300 MW.
- 3. An FRR Entity that designates Capacity Resources in its FRR Capacity Plan(s) for a Delivery Year based on the Threshold Quantity may not offer to sell such resources in any Reliability Pricing Model auction, but, but may use such resources to meet any increased capacity obligation resulting from unanticipated growth of the loads in its FRR Capacity Plan(s), or may sell such resources to serve loads located outside the PJM Region, or to another FRR Entity, subject to subsection E.1 above.
- 4. A Party that has selected the FRR Alternative for only part of its load in the PJM Region pursuant to Section B.2 of this Schedule that designates Capacity Resources as Self-Supply in a Reliability Pricing Model Auction to meet such Party's expected Daily Unforced Capacity Obligation under Schedule 8 shall not be required, solely as a result of such designation, to identify Capacity Resources in its FRR Capacity Plan(s) based on the Threshold Quantity; provided, however, that such Party may not so designate Capacity Resources in an amount in excess of the lesser of (a) 25% times such Party's total expected Unforced Capacity obligation (under both Schedule 8 and Schedule 8.1), or (b) 200 MW. A Party that wishes to

Issued By: Craig Glazer

Effective: June 20, 2007

Second Revised Sheet No. 46 Superseding First Revised Sheet No. 46

PJM Interconnection, L.L.C. Rate Schedule FERC No. 44

avoid the foregoing limitation must identify Capacity Resources in its FRR Capacity Plan(s) based on the Threshold Quantity.

### F. FRR Daily Unforced Capacity Obligations and Deficiency Charges

1. For each billing month during a Delivery Year, the Daily Unforced Capacity Obligation of an FRR Entity shall be determined on a daily basis for each Zone as follows:

Daily Unforced Capacity Obligation = OPL \* Final Zonal FRR Scaling Factor \* FPR where:

OPL =Obligation Peak Load, defined as the daily summation of the weatheradjusted coincident summer peak, last preceding the Delivery Year, of the end-users in such Zone (net of operating Behind The Meter Generation, but not to be less than zero) for which such Party was responsible on that billing day, as determined in accordance with the procedures set forth in the PJM Manuals

Final Zonal FRR Scaling Factor = FZPLDY/FZWNSP;

FZPLDY = Final Zonal Peak Load Forecast for such Delivery Year; and

PZWNSP = Zonal Weather-Normalized Peak Load for the summer concluding prior to the commencement of such Delivery Year.

- 2. An FRR Entity shall be assessed an FRR Capacity Deficiency Charge in each Zone addressed in such entity's FRR Capacity Plan for each day during a Delivery Year that it fails to satisfy its Daily Unforced Capacity Obligation in each Zone. Such FRR Capacity Deficiency Charge shall be in an amount equal to the deficiency below such FRR Entity's Daily Unforced Capacity Obligation for such Zone times (1.20 times the Capacity Resource Clearing Price resulting from all RPM Auctions for such Delivery Year for the LDA encompassing such Zone, weight-averaged for the Delivery Year based on the prices established and quantities cleared in such auctions).
- 3. If an FRR Entity acquires load that is not included in the Preliminary Zonal Peak Load Forecast such acquired load shall be treated in the same manner as provided in Sections H.1 and H.2 of this Schedule.
- 4. The shortages in meeting the minimum requirement within the constrained zones and the shortage in meeting the total obligation are first calculated. The shortage in the unconstrained area is calculated as the total shortage less shortages in constrained zones and excesses in constrained zones (the shortage is zero if this is a negative number). The Capacity Deficiency Charge is charged to the shortage in each zone and in the unconstrained area separately. This procedure is used to allow the use of capacity excesses from constrained zones to reduce shortage in the unconstrained area and to disallow the use of capacity excess from unconstrained area to reduce shortage in constrained zones.

Issued By: Cra

Craig Glazer

Effective: March 27, 2009

### G. Capacity Resource Porformance

Any Capacity Resource committed by an FRR Entity in an PRR Capacity Plan for a Delivery Year shall be subject during such Delivery Year to the charges set forth in sections 7, 9, 10, 11, and 13 of Attachment DD to the PIM Tariff; provided, however, the Daily Deficiency Rate under sections 7, 9, and 13 thereof shall be 1.20 times the Capacity Resource Clearing Price resulting from all RPM Auctions for such Delivery Year for the LDA encompassing the Zone of the FRR Entity, weight-averaged for the Delivery Year based on the prices established and quantities cleared in such auctions), and the charge rates under section 10 thereof, shall be the Capacity Resource Clearing Price resulting from the RPM Auctions for the Delivery Year for the LDA encompassing the Zone of the FRR Entity, weight-averaged as described above. An FRR Entity shall have the same opportunities to cure deficiencies and avoid or reduce associated charges during the Delivery Year that a Market Seller has under Sections 7, 9, and 10 of Attachment DD to the PIM Tariff. An FRR Entity may cure deficiencies and avoid or reduce associated charges prior to the Delivery Year by procuring replacement Unforced Capacity outside of any RPM auction and committing such capacity in its FRR Capacity Plan.

# H. Annexation of service territory by Public Power Entity

- 1. In the event a Public Power Entity that is an FRR Entity annexes service territory to include new customers on sites where no load had previously existed, then the incremental load on such a site shall be treated as unanticipated load growth, and such FRR Entity shall be required to commit sufficient resources to cover such obligation in the relevant Delivery Year.
- 2. In the event a Public Power Entity that is an FRR Entity annexes service territory to include load from a Party that has not elected the FRR Alternative, then:
  - a. For any Delivery Year for which a Base Residual Auction already has been conducted, such acquiring FRR Entity shall meet its obligations for the incremental load by paying PJM for incremental obligations (including any additional demand curve obligation) at the Capacity Resource Clearing Price for the relevant location. Any such revenues shall be used to pay Capacity Resources that cleared in the BRA for that LDA.
  - b. For any Delivery Year for which a Base Residual Auction has not been conducted, such acquiring FRR Entity shall include such incremental load in its FRR Capacity Plan.

Issued By: Craig Glazer Effective: March 27, 2009

Vice President, Federal Government Policy

- 3. Annexation whereby a Party that has not elected the FRR Alternative acquires load from an FRR entity:
  - a. For any Delivery Year for which a Base Residual Auction already has been conducted, PJM would consider shifted load as unanticipated load growth for purposes of determining whether to hold a Second Incremental Auction. If a Second Incremental Auction is held, FRR entity would have a must offer requirement for sufficient capacity to meet the load obligation of such shifted load. If no Second Incremental Auction is conducted, the FRR Entity may sell the associated quantity of capacity into an RPM Auction or bilaterally.

Issued By: Craig Glazer

Vice President, Federal Government Policy

Issued On: December 12, 2008

Effective: March 27, 2009

PJM Interconnection, L.L.C. Rate Schedule FERC No. 44

> b. For any Delivery Year for which a Base Residual Auction has not been conducted, the FRR Entity that lost such load would no longer include such load in its FRR Capacity Plan, and PJM would include such shifted load in future BRAs.

# I. Savings Clause for State-Wide FRR Program

Nothing herein shall obligate or preclude a state, acting either by law or through a regulatory body acting within its authority, from designating the Load Serving Entity or Load Serving Entities that shall be responsible for the capacity obligation for all load in one or more FRR Service Areas within such state according to the terms and conditions of that certain Settlement Agreement dated September 29, 2006 in FERC Docket Nos. ER05-1410 and El05-148, the PJM Tariff and this Agreement. Each LSB subject to such state action shall become a Party to this Agreement and shall be deemed to have elected the FRR Alternative.

Issued By: Craig Glazer Effective: June 1, 2007

# PROCEDURES FOR ESTABLISHING THE CAPABILITY OF GENERATION CAPACITY RESOURCES

- A. Such rules and procedures as may be required to determine and demonstrate the capability of Generation Capacity Resources for the purposes of meeting a Load Serving Entity's obligations under the Agreement shall be developed by the Office of Interconnection and maintained in the PJM Manuals.
- B. The rules and procedures for determining and demonstrating the capability of generating units to serve load in the PJM Region shall be consistent with achieving uniformity for planning, operating, accounting and reporting purposes.
- C. The rules and procedures shall recognize the difference in types of generating units and the relative ability of units to maintain output at stated capability over a specified period of time. Factors affecting such ability include, but are not limited to, fuel availability, stream flow for hydro units, reservoir storage for hydro and pumped storage units, mechanical limitations, and system operating policies.

Issued By: Craig Glazer Effective: June 1, 2007

-Vice-President, Federal-Government-Policy-

# PROCEDURES FOR ESTABLISHING DELIVERABILITY OF GENERATION CAPACITY RESOURCES

Generation Capacity Resources must be deliverable, consistent with a loss of load expectation as specified by the Reliability Principles and Standards, to the total system load, including portion(s) of the system in the PJM Region that may have a capacity deficiency at any time. Deliverability shall be demonstrated by either obtaining or providing for Network Transmission Service or Firm Point-To-Point Transmission Service within the PJM Region such that each Generation Capacity Resource is either a Network Resource or a Point of Receipt, respectively. In addition, for Generation Capacity Resources located outside the metered boundaries of the PJM Region that are used to meet an Unforced Capacity Obligation, the capacity and energy of such Generation Capacity Resources must be delivered to the metered boundaries of the PJM Region through firm transmission service.

Certification of deliverability means that the physical capability of the transmission network has been tested by the Office of the Interconnection and found to provide that service consistent with the assessment of available transfer capability as set forth in the PJM Tariff and, for Generation Resources owned or contracted for by a Load Serving Entity, that the Load Serving Entity has obtained or provided for Network Transmission Service or Firm Point-to-Point Transmission Service to have capacity delivered on a firm basis under specified terms and conditions.

Issued By: Craig Glazer Effective: June 1, 2007

### SCHEDULE 10.1

## LOCATIONAL DELIVERABILITY AREAS AND REQUIREMENTS

The capacity obligations imposed under this Agreement recognize the locational value of Capacity Resources. To ensure that such locational value is properly recognized and quantified, the Office of the Interconnection shall follow the procedures in this Schedule.

- A. Following the Transition Period, as such term is defined in Attachment DD to the Tariff, the Locational Deliverability Areas for the purposes of determining locational capacity obligations hereunder, but not necessarily for the purposes of the Regional Transmission Expansion Planning Protocol, shall consist of the following Zones (as defined in Schedule 15), combinations of such Zones, and portions of such Zones:
  - o Dominion
  - o Penclec
  - o Combd
  - o AEP
  - o Dayton
  - o Duquesne
  - o APS
  - o AE
  - o BGE
  - o DPL
  - o PECO
  - o PEPCO
  - o PSEG
  - o JCPL
  - o MetEd
  - o PPL
  - o Mid-Atlantic Area Council (MAAC) Region (consisting of all the zones listed below for Eastern MAAC, Western MAAC, and Southwestern MAAC)
  - o ComBd, AEP, Dayton, APS, and Duguesne
  - o Eastern MAAC (PSE&G, JCP&L, PECO, AE, DPL & RE)
  - o Southwestern MAAC (PEPCO & BG&E)
  - o Western MAAC (Penelec, MetEd, PPL)
  - o PSEG northern region (north of Linden substation); and
  - o DPL southern region (south of Chesapeake and Delaware Canal

Issued By: Craig Glazer Effective: June 1, 2007

-Vice President, Federal-Government Policy\_

Issued On: September 29, 2006

PJM Interconnection, L.L.C. Rate Schedule FERC No. 44

- For purposes of evaluating the need for any changes to the foregoing list, Locational Deliverability Areas shall be those areas, identified by the load deliverability analyses conducted pursuant to the Regional Transmission Expansion Planning Protocol and the PJM Manuals that have a limited ability to import capacity due to physical limitations of the transmission system, voltage limitations or stability limitations. Such limits on import capability shall not reflect the effect of Qualifying Transmission Upgrades offered in the Base Residual Auction. The Locational Deliverability Areas identified in Paragraph A above (as it may be amended from time to time) for a Delivery Year shall be modeled in the Base Residual Auction and any Incremental Auction conducted for such Delivery Year. If the Office of the Interconnection includes a new Locational Deliverability Area in the Regional Transmission Expansion Planning Protocol, it shall make a filing with FERC to amend this Schedule to add a new Locational Deliverability Area (including a new aggregate LDA), if such new Locational Deliverability Area is projected to have a capacity emergency transfer limit less than 1.05 times the capacity emergency transfer objective of such area, or if warranted by other reliability concerns consistent with the Reliability Principles and Standards. In addition, any Party may propose, and the Office of the Interconnection shall evaluate, consistent with the same CETO/CETO comparison or other reliability concerns, possible new Locational Deliverability Areas (including aggregate LDAs) for inclusion under the Regional Transmission Expansion Planning Protocol and for purposes of determining locational capacity obligations hereunder.
- C. For each Locational Deliverability Area for which a separate VRR Curve was established for a Delivery Year, the Office of the Interconnection shall determine, pursuant to procedures set forth in the PJM Manuals, the Percentage of Internal Resources Required, that must be committed during such Delivery Year from Capacity Resources physically located in such Locational Deliverability Area.

Issued By: Craig Glazer Effective: June 1, 2007

### DATA SUBMITTALS

To perform the studies required to determine the Forecast Pool Requirement and Daily Unforced Capacity Obligations under this Agreement and to determine compliance with the obligations imposed by this Agreement, each Party and other owner of a Capacity Resource shall submit data to the Office of the Interconnection in conformance with the following minimum requirements:

- 1. All data submitted shall satisfy the requirements, as they may change from time to time, of any procedures adopted by the Members Committee.
- Data shall be submitted in an electronic format, or as otherwise specified by the Markets and Reliability Committee and approved by the PJM Board.
- 3. Actual outage data for each month for Generator Forced Outages, Generator Maintenance Outages and Generator Planned Outages shall be submitted so that it is received by such date specified in the PJM Manuals.
- 4. On or before the date specified in the PJM Manuals, planned and maintenance outage data for all Generation Resources and load forecasts (including seasonal and average weekly peaks) shall be submitted.
- 5. On or before the date specified in the PJM Manuals, adjustments to forecasts shall be submitted.
- 6. On or before the date or schedule for updates specified in the PJM Manuals, revisions to capacity and load forecasts (including the plans for satisfying the Daily Unforced Capacity Obligation of the Party) shall be submitted.
- 7. Capacity plans or revisions to previously submitted capacity plans, required under Schedule 6.
- 8. As desired by a Party, revisions to monthly peak load forecasts may be submitted.

The Parties acknowledge that additional information required to determine the Forecast Pool Requirement is to be obtained by the Office of the Interconnection from Blectric Distributors in accordance with the provisions of the Operating Agreement.

Issued By: Craig Glazer Effective: June 1, 2007

### DATA SUBMISSION CHARGES

# A. Data Submission Charge

For each working day of delay in the submittal of information required to be submitted under this Agreement, a data submission charge of \$500 shall be imposed.

# B. <u>Distribution Of Data Submission Charge Receipts</u>

- 1. Each Party that has satisfied its obligations for data submittals pursuant to Schedule 11 during a Delivery Year, without incurring a data submission charge related to that obligation, shall share in any data submission charges paid by any other Party that has failed to satisfy said obligation during such Planning Period. Such shares shall be in proportion to the sum of the Unforced Capacity Obligations of each such Party entitled to share in the data submission charges for the most recent month.
- 2. In the event all of the Parties have incurred a data submission charge during a Delivery Year, those data submission charges shall be distributed as approved by the PJM Board.

Issued By: Craig Glazer Effective: June 1, 2007

-Vice-President,-Pederal-Government-Policy-

# EMERGENCY PROCEDURE CHARGES

Following an Emergency, the compliance of each Party with the instructions of the Office of the Interconnection shall be evaluated as directed by the Markets and Reliability Committee. If, based on such evaluation, it is determined that a Party refused to comply with, or otherwise failed to employ its best efforts to comply with, the instructions of the Office of the Interconnection to implement PJM emergency procedures, that Party shall pay an emergency procedure charge, as set forth in Attachment DD to the PJM Tariff. The revenue associated with Emergency Procedure Charges shall be allocated in accordance with Attachment DD to the PJM Tariff.

Issued By: Craig Glazer Effective: June 1, 2007

Vice President, Pederal Government Policy

Issued On: September 29, 2006

Effective: June 1: 2007

### SCHEDULE 14

### DELEGATION TO THE OFFICE OF THE INTERCONNECTION

The following responsibilities shall be delegated by the Parties to the Office of the Interconnection:

- New Parties. With regard to the addition, withdrawal or removal of a Party: 1.
  - Receive and evaluate the information submitted by entities that plan to (a) serve loads within the PJM Region, including entities whose participation in the Agreement will expand the boundaries of the PJM Region. Such evaluation shall be conducted in accordance with the requirements of the Agreement.
  - (b) Evaluate the effects of the withdrawal or removal of a Party from this Agreement.
- 2. Implementation of Reliability Assurance Agreement. With regard to the implementation of the provisions of this Agreement:
  - Receive all required data and forecasts from the Parties and other owners (a) of Capacity Resources;
  - Perform all calculations and analyses necessary to determine the Forecast (b) Pool Requirement and the obligations imposed under the Reliability Assurance Agreement, including periodic reviews of the capacity benefit margin for consistency with the Reliability Principles and Standards;
  - (c) Monitor the compliance of each Party with its obligations under the Agreement;
  - Keep cost records, and bill and collect any costs or charges due from the (d) Parties and distribute those charges in accordance with the terms of the Agreement;
  - Assist with the development of rules and procedures for determining and (c) demonstrating the capability of Capacity Resources;
  - (l) Establish the capability and deliverability of Generation Capacity Resources consistent with the requirements of the Reliability Assurance Agreement;
  - (g) Establish standards and procedures for Planned Demand Resources;
  - Collect and maintain generator availability duta; (h)

Issued By: Craig Glazer

Vice President, Federal Government Policy

Issued On:

- (i) Perform any other forecasts, studies or analyses required to administer the Agreement;
- (j) Coordinate maintenance schedules for generation resources operated as part of the PJM Region;
- (k) Determine and declare that an Emergency exists or ceases to exist in all or any part of the PJM Region or amounce that an Emergency exists or ceases to exist in a Control Area interconnected with the PJM Region;
- (i) Enter into agreements for (i) the transfer of energy in Emergencies in the PJM Region or in a Control Area interconnected with the PJM Region and (ii) mutual support in such Emergencies with other Control Areas interconnected with the PJM Region; and
- (m) Coordinate the curtailment or shedding of load, or other measures appropriate to alleviate an Emergency, to preserve reliability in accordance with FERC, NERC or Applicable Regional Reliability Council principles, guidelines, standards and requirements, and to ensure the operation of the PIM Region in accordance with Good Utility Practice.

Issued By: Craig Glazer

Vice President, Federal Government Policy

Issued On; \_\_\_September-29,-2006\_

Effective: June 1, 2007

# SCHEDULE 15



FULL NAME	SHORT NAME
Pennsylvania Electric Company	Penelec
Allegheny Power	APS
PPL Group	PPL
Metropolitan Edison Company	
Jersey Central Power and Light Company	
Public Service Electric and Gas Company	
Atlantic City Blectric Company	AEC
PECO Energy Company	PECO
Baltimore Gas and Electric Company	
Delmarva Power and Light Company	DPL
Potomac Electric Power Company	
Rockland Electric Company	
Commonwealth Edison Company	
AEP East Zone	VED
The Dayton Power and Light Company	
Virginia Electric and Power Company	
Duquesne Light Company	
<del>-</del>	

Issued By:

Craig Glazer

Vice President, Federal Government Policy

Issued On:

September 29, 2006

# Non-Retail Behind the Meter Generation Maximum Generation Emergency Obligations

- 1. A Non-Retail Behind The Meter Generation resource that has output that is netted from the Daily Unforced Capacity Obligation of a Party pursuant to Schedule 7 of this Agreement shall be required to operate at its full output during the first ten times between November 1 and October 31 that Maximum Generation Emergency (as defined in section 1.3.13 of Schedule 1 of the Operating Agreement) conditions occur in the zone in which the Non-Retail Behind The Meter Generation resource is located.
- 2. The Party for which Non-Retail Behind The Meter Generation output is netted from its Daily Unforced Capacity Obligation shall be required to report to PJM scheduled outages of the resource prior to the occurrence of such outage in accordance with the time requirements and procedures set forth in the PJM Manuals. Such Party also shall report to PJM the output of the Non-Retail Behind The Meter Generation resource during each Maximum Generation Emergency condition in which the resource is required to operate in accordance with the procedures set forth in PJM Manuals.
- 3. Except for failures to operate due to scheduled outages during the months of October through May, for each instance a Non-Retail Behind The Meter Generation resource fails to operate, in whole or in part, as required in paragraph 1 above, the amount of operating Non-Retail Behind The Meter Generation from such resource that is eligible for netting will be reduced pursuant to the following formula:

Adjusted ENRBTMG

ENRBTMG - 2(10% of the Not Run NRBTMG)

Where:

BNRBTMG equals the operating Non-Retail Behind The Meter Generation eligible for netting as determined pursuant to Schedule 7 of this Agreement.

Not Run NRBTMG is the amount in megawalts that the Non-Retail Behind The Meter Generation resource failed to produce during an occurrence of Maximum Generation Emergency conditions in which the resource was required to operate.

E(10% of the Not Run NRBTMG) is the summation of 10% megawatt reductions associated with the events of non-performance.

The Adjusted ENRBTMG shall not be less than zero and shall be applicable for the succeeding Planning Period.

4. If a Non-Retail Behind The Meter Generation resource that is required to operate during a Maximum Generation Emergency condition is an Energy Resource and injects energy into the Transmission System during the Maximum Generation Emergency condition, the Network Customer that owns the resource shall be compensated for such injected energy in accordance with the PJM market rules.

Issued By:

Craig Glazer

Effective: June 20, 2007

-Vice President, Federal Government-Policy-

### PARTIES TO THE RELIABILITY ASSURANCE AGREEMENT

This Schedule sets forth the Parties to the Agreement:

Harrison REA Inc.

City of New Martinsville

City of Philippi

Letterkenny Industrial Development Authority-PA

Old Dominion Electric Cooperative

Town of Front Royal

Hagerstown

Borough of Chambersburg

Town of Williamsport

Thurmont

Allegheny Electric Coopertive, Inc.

Allegheny Power

AES New Energy, Inc.

BP Energy Co.

Commonwealth Edison Company

Commonwealth Edison Company of Indiana

Dayton Power & Light Company (The)

American Municipal Power-Ohio, Inc.

American Electric Power Service Corporation on behalf of its affiliates:

Appalachian Power Company

Columbus Southern Power Company

Indiana Michigan Power Company

Kentucky Power Company

Kingsport Power Company

Ohio Power Company

Wheeling Power Company

Allegheny Energy Supply Company, L.L.C.

Blue Ridge Power Agency, Inc.

Central Virginia Electric Cooperative

City of Dowogiao

Hoosier Energy REC, Inc.

Indiana Municipal Power Agency

Ormet Primary Aluminum Corporation

City of Sturgis

Wabash Valley Power Association, Inc.

Duquesne Light Company

Virginia Electric and Power Company

Issued By: Craig Glazer Effective: June 1, 2007

Vice President, Federal Government Policy

Issued On: September 29, 2006

PJM Interconnection, L.L.C. Rate Schedule FERC No. 44

ACN Energy, Inc.

AES Power Direct, L.L.C.

Agway Energy Services-PA Inc.

Allegheny Energy Supply Company, L.L.C.

AllEnergy Marketing Company, L.L.C.

Amerada Hess Corporation

American Cooperative Services, Inc.

American Energy Solutions, Inc.

Atlantic City Blectric Company

Baltimore Gas and Electric Company

BGE Home Products & Services, Inc.

BP Energy Company

Central Hudson Enterprise Corporation

CMS Marketing Services and Trading Company

Columbia Energy Power Marketing Corporation

Commodore Gas and Electric, Inc.

Commonwealth Energy Corporation dba electricAMERICA

Con Edison Energy, Inc.

Conectiv Energy Supply, Inc.

Constellation Energy Source, Inc.

Consolidated Edison Solutions, Inc.

Delmarya Power & Light Company

Dominion Retail, Inc.

DTE Edison America, Inc.

DTE Energy Market, Inc.

DTE Energy Trading, Inc.

Duke Energy Trading and Marketing, L.L.C.

DukeSolutions, Inc.

Easten Power Distribution Company

ECONnergy Energy Company, Inc.

ECONnergy PA, Inc.

Edison Mission Marketing & Trading, Inc.

Energy America, L.L.C.

Energy Bast Solutions, Inc.

Enron Energy Services, Inc.

Enron Power Marketing, Inc.

**Exclon Baergy Company** 

FirstEnergy Corporation

FirstEnergy Trading and Power Marketing Incorporated

FirstEnergy Services Corp.

GPU Advanced Resources

GreenMountain.com Company

HIS Power & Water, L.L.C.

It's Electric & Gas, L.L.C.

Jersey Central Power & Light Company

Issued By:

Craig Glazer

Vice President, Federal Government Policy

Issued On:

September 29, 2006

· Effective: June 1, 2007

PJM Interconnection, L.L.C. Rate Schedule FERC No. 44

Keyspan Energy Services, Inc. Metropolitan Edison Company

MIECO, Inc.

NewEnergy, Inc.

Niagara Mohawk Energy Marketing, Inc.

NJR Natural Energy Company

NRG New Jorsey Energy Sales, L.L.C.

NYSEG Solutions, Inc.

Old Dominion Electric Cooperative

PECO Energy Company

Penn Power Energy, Inc.

Pennsylvania Electric Company

Pepco Energy Services, Inc.

Potomac Blectric Power Company

PPL Electric Utilities Corporation

PPL EnergyPius, L.L.C.

PSEG Energy Resources & Trade, L.L.C

PSEG Energy Technologies, Inc.

Public Service Electric and Gas Company

Reliant Energy Retail, Inc.

Rhoads Energy Corporation

Select Energy, Inc.

Sempra Energy Solutions

Sempra Energy Trading Corp.

Shell Energy Services Company, L.L.C.

Southern Company Retail Energy Marketing L.P.

South Jersey Energy Company

South Jersey Energy Solutions, L.L.C.

Smart Energy.com, Inc.

Statoil Energy Services, Inc.

Strategic Energy Ltd.

The Mack Services Group

The New Power Company

Total Gas & Electric, Inc.

Total Gas & Electricity (PA), Inc.

TXU Energy Trading Company d/b/a TXU Energy Services

UGI Energy Services, Inc.

UGI Utilities, Inc. - Electric Division

Utilimax.com, Inc.

Utility.com

Washington Gas Energy Services, Inc.

Williams Energy Market & Trading Company

Woodruff Energy

Worley & Obetz, Inc. d/b/a Advanced Energy

Issued By:

Craig Glazer

· Vice President, Federal Government Policy

Issued On: September 29, 2006—

Effective: June 1, 2007

IN WITNES	S WHEREOF, the Parties have caused this Agreement to be executed
by their duly authori	zed representatives.
	(M)
	Ву:
	0 5 0 5 0
D.1.	Company Namo: 60F Suez Energy Resources
1/12/10 KEIM 6.K.	Date: 1/29/10
JSA	

## Deshazo, Robert

Sutter, Craig

Deshazo, Robert

FW: Acclaim Deals

Friday, March 09, 2012 2:45 PM

From:

Sent:

Subject:

To:

```
Craig Sutter
Sr. Vice President of Sales
GDF SUEZ Energy Resources NA
1990 Post Oak Boulevard, Suite 1900
Houston - Texas - 77056 - United States
Ph. 713.636.1707 | Fax 713.636.1799 | Mob. 713.201.8460 craig.sutter@gdfsuezna.com
www.gdfsuezenergyresources.com
  - Please consider our environment before printing
----Original Message----
From: Wilson, Robert
Sent: Friday, March 09, 2012 2:30 PM
To: Sutter, Craig
Cc: Nicotra, Salvatore
Subject: Re: Acclaim Deals
Approved
Sent from my iPhone
On Mar 9, 2012, at 1:38 PM, "Sutter, Craig" < Craig.Sutter@gdfsuezna.com> wrote:
> Bob:
> Per our conversation of this morning, I am seeking your approval for Sal's team to pay
Acclaim Energy approximately $163K as up-front payment for the deals shown in the
attachment.
>
> Thanks,
> Craig Sutter
> Sr. Vice President of Sales
> GDF SUEZ Energy Resources NA
> [cid:image001.jpg@01CCFD40.2A1D0160]
> 1990 Post Oak Boulevard, Suite 1900
> Houston - Texas - 77056 - United States
> Ph. 713.636.1707 | Fax 713.636.1799 | Mob. 713.201.8460
> craig.sutter@gdfsuezna.com<mailto:shirley.espey@gdfsuezna.com>
> www.gdfsuezenergyresources.com
> [cid:image002.jpg@01CCFD40.2A1D0160] - Please consider our environment before printing
> From: Nicotra, Salvatore
> Sent: Thursday, March 08, 2012 4:21 PM
> To: Sutter, Craig
> Subject: FW: Acclaim Deals
                                               1
```

```
> Craig,
> See the pdf file for Acclaim deals. With a 5% discount the total estimated broker fee
available is $163k.
> Sal
> From: Deshazo, Robert
> Sent: Thursday, March 08, 2012 3:29 PM
> To: Nicotra, Salvatore
> Subject: Acclaim Deals
> Sal,
> Please find details and an attachment for deals we have not prepaid Acclaim for that would
ordinarily qualify for a prepay. These deals were all still in progress when the last pre
payment was made to Acclaim so they were not captured at that time.
> Thank you,
> Robert DeShazo
> Director - Revenue
> [cid:image001.jpg@01CCFD40.2A1D0160]
> 1990 Post Oak Boulevard, Suite 1900
> Houston - Texas - 77056 - United States
> Ph. 713.636.1302 | Fax 713.636.1013
> Robert.DeShazo@gdfsuezna.com
> www.gdfsuezenergyresources.com<a href="http://www.gdfsuezenergyresources.com/">http://www.gdfsuezenergyresources.com/</a>>
> [cid:image002.jpg@01CCFD40.2A1D0160] - Please consider our environment before printing
> <LEGA_ATTACHMENT A MAR FORWARD ROUND FOUR.xlsx>
> <LEGA ATTACHMENT A MAR FORWARD ROUND FOUR.pdf>
> <image001.jpg>
> <image002.jpg>
```

## Attachment A

Broker	ACCLAIM ENERGY LTD

Customer	BED	BATH & BEYOND	INC							
AgreeNum	ZONE	SUBTYPE Ter	rmStart	TermEnd	YearM	Mwhs	MwhFee	Gross Revenue	Rate	NetPayout
1-30JFM7	DPL	01	1/01/12	12/31/12	201203	46.57257	\$0.60	\$27.94	5.00%	\$26.55
1-30JFM7	DPL	01	1/01/12	12/31/12	201204	42.13206	\$0.60	\$25.28	5.00%	\$24.02
1-30JFM7	DPL	01	1/01/12	12/31/12	201205	39.60259	\$0.60	\$23.76	5.00%	\$22.57
1-30JFM7	DPL	01	1/01/12	12/31/12	201206	48.51345	\$0.60	\$29.11	5.00%	\$27.65
1-30JFM7	DPL.	01	1/01/12	12/31/12	201207	52.80658	\$0.60	\$31.68	5.00%	\$30.10
1-30JFM7	DPL	01	1/01/12	12/31/12	201208	52.03141	\$0.60	\$31.22	5.00%	\$29.66
1-30JFM7	DPL	01	1/01/12	12/31/12	201209	48.06428	\$0.60	\$28.84	5.00%	\$27.40
1-30JFM7	DPL	01	1/01/12	12/31/12	201210	44.33082	\$0.60	\$26.60	5.00%	\$25.27
1-30JFM7	DPL.	01	1/01/12	12/31/12	201211	41.57977	\$0.60	\$24.95	5.00%	\$23.70
1-30JFM7	DPL	01	1/01/12	12/31/12	201212	47.52692	\$0.60	\$28.52	5.00%	\$27.09
										\$264.00
1-30JFN8	PEPCO	01	1/01/12	12/31/12	201203	147.06581	\$0.60	\$88.24	5.00%	\$83.83
1-30JFN8	PEPCO	01	1/01/12	12/31/12	201204	150.51626	\$0.60	\$90.31	5.00%	\$85.79
1-30JFN8	PEPCO	01	1/01/12	12/31/12	201205	183.71656	\$0.60	\$110.23	5.00%	\$104.72
1-30JFN8	PEPCO	01	1/01/12	12/31/12	201206	224.48205	\$0.60	\$134.69	5.00%	\$127.95
1-30JFN8	PEPCO	01	1/01/12	12/31/12	201207	234.67087	\$0.60	\$140.80	5.00%	\$133.76
1-30JFN8	PEPCO	01	1/01/12	12/31/12	201208	229.68969	\$0.60	\$137.81	5.00%	\$130.92
1-30JFN8	PEPCO	01	1/01/12	12/31/12	201209	189.04107	\$0.60	\$113.42	5.00%	\$107.75
1-30JFN8	PEPCO	01	1/01/12	12/31/12	201210	175.66652	\$0.60	\$105.40	5.00%	\$100.13
1-30JFN8	PEPCO	01	1/01/12	12/31/12	201211	144.68299	\$0.60	\$86.81	5.00%	\$82.47
1-30JFN8	PEPCO	01	1/01/12	12/31/12	201212	161.80283	\$0.60	\$97.08	5.00%	\$92.23
									_	\$1,049.56

Page 1 of 15

Page 1 of 15

1-30JFO2	BGE	01/01/12	12/31/12	201203	243.09361	\$0.60	\$145.86	5.00%	\$138.56
1-30JFO2	BGE	01/01/12	12/31/12	201204	231.09591	\$0.60	\$138.66	5.00%	\$131.72
1-30JFO2	BGE	01/01/12	12/31/12	201205	260.32658	\$0.60	\$156.20	5.00%	\$148.39
1-30JFO2	BGE	01/01/12	12/31/12	201206	330.40847	\$0.60	\$198.25	5.00%	\$188.33
1-30JFO2	BGE	01/01/12	12/31/12	201207	353.53650	\$0.60	\$212.12	5.00%	\$201.52
1-30JFO2	BGE	01/01/12	12/31/12	201208	341.10700	\$0.60	\$204.66	5.00%	\$194.43
1-30JFO2	BGE	01/01/12	12/31/12	201209	292.79416	\$0.60	\$175.68	5.00%	\$166.89
1-30JFO2	BGE	01/01/12	12/31/12	201210	246.99641	\$0.60	\$148.20	5.00%	\$140.79
1-30JFO2	BGE	01/01/12	12/31/12	201211	237.56350	\$0.60	\$142.54	5.00%	\$135.41
1-30JFO2	BGE	01/01/12	12/31/12	201212	285.77968	\$0.60	\$171.47	5.00%	\$162.89
								\$3	1,608.94
1-333\$54	CONNECTIC	12/01/11	07/31/13	201203	100.99646	\$0.60	\$60.60	5.00%	\$57.57
1-333\$54	CONNECTIC	12/01/11	07/31/13	201204	93.68243	\$0.60	\$56.21	5.00%	\$53.40
1-333554	CONNECTIC	12/01/11	07/31/13	201205	106.35993	\$0.60	\$63.82	5.00%	\$60.63
1-333\$54	CONNECTIC	12/01/11	07/31/13	201206	125.66841	\$0.60	\$75.40	5.00%	\$71.63
1-333554	CONNECTIC	12/01/11	07/31/13	201207	146.33014	\$0.60	\$87,80	5.00%	\$83.41
1-333554	CONNECTIC	12/01/11	07/31/13	201208	143.49989	\$0.60	\$86.10	5.00%	\$81.79
1-333\$54	CONNECTIC	12/01/11	07/31/13	201209	116.10508	\$0.60	\$69.66	5.00%	\$66.18
1-333554	CONNECTIC	12/01/11	07/31/13	201210	104.31219	\$0.60	\$62.59	5.00%	\$59.46
1-333\$54	CONNECTIC	12/01/11	07/31/13	201211	102.87682	\$0.60	\$61.73	5.00%	\$58.64
1-333\$54	CONNECTIC	12/01/11	07/31/13	201212	112.32275	\$0.60	\$67.39	5.00%	\$64.02
1-333554	CONNECTIC	12/01/11	07/31/13	201301	111.57575	\$0.60	\$66.95	5.00%	\$63.60
1-333\$54	CONNECTIC	12/01/11	07/31/13	201302	99.59818	\$0.60	\$59.76	5.00%	\$56.77
1-333554	CONNECTIC	12/01/11	07/31/13	201303	100.45488	\$0.60	\$60.27	5.00%	\$57.26
1-333554	CONNECTIC	12/01/11	07/31/13	201304	94.03198	\$0.60	\$56.42	5.00%	\$53.60
1-333\$54	CONNECTIC	12/01/11	07/31/13	201305	106.36563	\$0.60	\$63.82	5.00%	\$60.63
1-333554	CONNECTIC	12/01/11	07/31/13	201306	125.68141	\$0.60	\$75.41	5.00%	\$71.64
1-333\$54	CONNECTIC	12/01/11	07/31/13	201307	146.34272	\$0.60	\$87.81	5.00%	\$83.42

										-	\$1,103.64
	1-349W54	PSEG		01/01/12	11/30/12	201203	970.92830	\$0.60	\$582.56	5.00%	\$553.43
	1-349W54	PSEG		01/01/12	11/30/12	201204	875.97120	\$0.60	\$525.58	5.00%	\$499.30
	1-349W54	PSEG		01/01/12	11/30/12	201205	833.05010	\$0.60	\$499.83	5.00%	\$474.84
	1-349W54	PSEG		01/01/12	11/30/12	201206	776.80880	\$0.60	\$466.09	5.00%	\$442.78
	1-349W54	PSEG		01/01/12	11/30/12	201207	963.07650	\$0.60	\$577.85	5.00%	\$548.95
	1-349W54	PSEG		01/01/12	11/30/12	201208	929.82280	\$0.60	\$557.89	5.00%	\$530.00
	1-349W54	PSEG		01/01/12	11/30/12	201209	911.05940	\$0.60	\$546.64	5.00%	\$519.30
	1-349W54	PSEG		01/01/12	11/30/12	201210	948.73180	\$0.60	\$569.24	5.00%	\$540.78
	1-349W54	PSEG		01/01/12	11/30/12	201211	971.01740	\$0.60	\$582.61	5.00%	\$553.48
											\$4,662.87
	1-36XK6E	COMED		02/01/12	11/30/12	201203	42.80244	\$0.60	\$25.68	5.00%	\$24.40
	1-36XK6E	COMED		02/01/12	11/30/12	201204	38.13290	\$0.60	\$22.88	5.00%	\$21.74
	1-36XK6E	COMED		02/01/12	11/30/12	201205	46.07511	\$0.60	\$27.65	5.00%	\$26.26
	1-36XK6E	COMED		02/01/12	11/30/12	201206	47.88146	\$0.60	\$28.73	5.00%	\$27.29
	1-36XK6E	COMED		02/01/12	11/30/12	201207	56.95993	\$0.60	\$34.18	5.00%	\$32.47
	1-36XK6E	COMED		02/01/12	11/30/12	201208	47.86181	\$0.60	\$28.72	5.00%	\$27.28
	1-36XK6E	COMED		02/01/12	11/30/12	201209	42.92023	\$0.60	\$25.75	5.00%	\$24.46
	1-36XK6E	COMED		02/01/12	11/30/12	201210	41.85079	\$0.60	\$25.11	5.00%	\$23.85
	1-36XK6E	COMED		02/01/12	11/30/12	201211	43.37810	\$0.60	\$26.03	5.00%	\$24.73
											\$232.48
Cu	stomer summa	ry = BED BAT	H & BEYOND	INC (65 det	ail records)						
To	tal						15,652		\$9,391.04		\$8,921.49
Customer HARRIS COUNTY WCID 116											
	AgreeNum	ZONE	SUBTYPE	TermStart	TermEnd	YearM	Mwhs	MwhFee	Gross Revenue	Rate	NetPayout
	1-340AAZ	HOUSTON		06/01/12	05/31/14	201206	190.65670	\$4.00	\$762.63	5.00%	\$724.50
	1-340AAZ	HOUSTON		06/01/12	05/31/14	201207	187.69255	\$4.00	\$750.77	5.00%	\$713.23
	1-340AAZ	HOUSTON		06/01/12	05/31/14	201208	174.98803	\$4.00	\$699.95	5.00%	\$664.95

Page 3 of 15

Page 3 of 15

Thursday, March 08, 2012

	1-340AAZ	HOUSTON	06	6/01/12	05/31/14	201209	154.71405	\$4.00	\$618.86	5.00%	\$587.91
	1-340AAZ	HOUSTON	06	5/01/12	05/31/14	201210	184.03666	\$4.00	\$736.15	5.00%	\$699.34
	1-340AAZ	HOUSTON	06	5/01/12	05/31/14	201211	149.11632	\$4.00	\$596.47	5.00%	\$566.64
	1-340AAZ	HOUSTON	06	5/01/12	05/31/14	201212	182.26475	\$4.00	\$729.06	5.00%	\$692.61
	1-340AAZ	HOUSTON	06	5/01/12	05/31/14	201301	160.18644	\$4.00	\$640.75	5.00%	\$608.71
	1-340AAZ	HOUSTON	06	5 <b>/01</b> /12	05/31/14	201302	145.12972	\$4.00	\$580.52	5.00%	\$551.49
	1-340AAZ	HOUSTON	06	5/01/12	05/31/14	201303	153.67222	\$4.00	\$614.69	5.00%	\$583.95
	1-340AAZ	HOUSTON	06	5/01/12	05/31/14	201304	158.40751	\$4.00	\$633.63	5.00%	\$601.95
	1-340AAZ	HOUSTON	06	5/01/12	05/31/14	201305	181.70134	\$4.00	\$726.81	5.00%	\$690.47
	1-340AAZ	HOUSTON	06	5/01/12	05/31/14	201306	190.90690	\$4.00	\$763.63	5.00%	\$725.45
	1-340AAZ	HOUSTON	06	6/01/12	05/31/14	201307	187.37775	\$4.00	\$749.51	5.00%	\$712.04
	1-340AAZ	HOUSTON	06	5/01/12	05/31/14	201308	175.22153	\$4.00	\$700.89	5.00%	\$665.84
	1-340AAZ	HOUSTON	06	5/01/12	05/31/14	201309	155.12155	\$4.00	\$620.49	5.00%	\$589.46
	1-340AAZ	HOUSTON	06	5/01/12	05/31/14	201310	183.71286	\$4.00	\$734.85	5.00%	\$698.11
	1-340AAZ	HOUSTON	06	5/01/12	05/31/14	201311	148.80502	\$4.00	\$595.22	5.00%	\$565.46
	1-340AAZ	HOUSTON	06	5/01/12	05/31/14	201312	182.35805	\$4.00	\$729.43	5.00%	\$692.96
	1-340AAZ	HOUSTON	06	5/01/12	05/31/14	201401	160.48444	\$4.00	\$641.94	5.00%	\$609.84
	1-340AAZ	HOUSTON	06	5/01/12	05/31/14	201402	144.61102	\$4.00	\$578.44	5.00%	\$549.52
	1-340AAZ	HOUSTON	06	6/01/12	05/31/14	201403	153.67592	\$4.00	\$614.70	5.00%	\$583.97
	1-340AAZ	HOUSTON	06	5/01/12	05/31/14	201404	158.42151	\$4.00	\$633.69	5.00%	\$602.00
	1-340AAZ	HOUSTON	06	5/01/12	05/31/14	201405	181.34364	\$4.00	\$725.37	5.00%	\$689.11
										_	\$15,369.50
Cı	ıstomer summa	ry = HARRIS (	OUNTY WCID 11	16 (24 de	tail records	s)					
To	otal						4,045		\$16,178.43		\$15,369.50
Cı	ıstomer	HEAL	THSOUTH CORP	ORATIO	N						
	AgreeNum	ZONE	SUBTYPE Ter	rmStart	TermEnd	YearM	Mwhs	MwhFee	Gross Revenue	Rate	NetPayout
	1-30LX2X	JCPL	06	5/01/12	05/31/13	201206	300.90506	\$1.50	\$451.36	5.00%	\$428.79
	1-30LX2X	JCPL	06	5/01/12	05/31/13	201207	311.82949	\$1.50	\$467.74	5.00%	\$444.36

1-30LX2X	JCPL	06/01/12	05/31/13	201208	316.14116	\$1.50	\$474.21	5.00%	\$450.50
1-30LX2X	JCPL	06/01/12	05/31/13	201209	260.39428	\$1.50	\$390.59	5.00%	\$371.06
1-30LX2X	JCPL	06/01/12	05/31/13	201210	225.74307	\$1.50	\$338.61	5.00%	\$321.68
1-30LX2X	JCPL	06/01/12	05/31/13	201211	188.39843	\$1.50	\$282.60	5.00%	\$268.47
1-30LX2X	JCPL	06/01/12	05/31/13	201212	203.19964	\$1.50	\$304.80	5.00%	\$289.56
1-30LX2X	JCPL	06/01/12	05/31/13	201301	206.21149	\$1.50	\$309.32	5.00%	\$293.85
1-30LX2X	JCPL	06/01/12	05/31/13	201302	186.28606	\$1.50	\$279.43	5.00%	\$265.46
1-30LX2X	JCPL	06/01/12	05/31/13	201303	200.59819	\$1.50	\$300.90	5.00%	\$285.85
1-30LX2X	JCPL	06/01/12	05/31/13	201304	219.84281	\$1.50	\$329.76	5.00%	\$313.28
1-30LX2X	JCPL	06/01/12	05/31/13	201305	244.38110	\$1.50	\$366.57	5.00%	\$348.24
								•	4,081.10
1-31LWOA	NORTH	02/01/12	01/31/13	201203	203.36800	\$1.50	\$305.05	5.00%	\$289.80
1-31LWOA	NORTH	02/01/12	01/31/13	201204	212.08070	\$1.50	\$318.12	5.00%	\$302.21
1-31LWOA	NORTH	02/01/12	01/31/13	201205	248.89910	\$1.50	\$373.35	5.00%	\$354.68
1-31LWOA	NORTH	02/01/12	01/31/13	201206	311.96630	\$1.50	\$467.95	5.00%	\$444.55
1-31LWOA	NORTH	02/01/12	01/31/13	201207	370.97980	\$1.50	\$556.47	5.00%	\$528.65
1-31LWOA	NORTH	02/01/12	01/31/13	201208	350.42750	\$1.50	\$525.64	5.00%	\$499.36
1-31LWOA	NORTH	02/01/12	01/31/13	201209	268.46720	\$1.50	\$402.70	5.00%	\$382.57
1-31LWOA	NORTH	02/01/12	01/31/13	201210	211.49020	\$1.50	\$317.24	5.00%	\$301.37
1-31LWOA	NORTH	02/01/12	01/31/13	201211	199.71660	\$1.50	\$299.57	5.00%	\$284.60
1-31LWOA	NORTH	02/01/12	01/31/13	201212	195.52960	\$1.50	\$293.29	5.00%	\$278.63
1-31LW0A	NORTH	02/01/12	01/31/13	201301	208.73700	\$1.50	\$313.11	5.00%	\$297.45
								:	\$3,963.87
1-32ELUE	DPL	07/01/12	06/30/13	201207	169.72610	\$2.00	\$339.45	5.00%	\$322.48
1-32ELUE	DPL	07/01/12	06/30/13	201208	176.86990	\$2.00	\$353.74	5.00%	\$336.05
1-32ELUE	DPL	07/01/12	06/30/13	201209	150.62940	\$2.00	\$301.26	5.00%	\$286.20
1-32ELUE	DPL	07/01/12	06/30/13	201210	138.36770	\$2.00	\$276.74	5.00%	\$262.90
1-32ELUE	DPL	07/01/12	06/30/13	201211	114.59940	\$2.00	\$229.20	5.00%	\$217.74

								Page f	5 of 15					
	1-35QEIZ	PECO		12/01/12	11/30/13	201212	112.39040	\$1.75	\$196.68	5:00%	\$186.85			
	AgreeNum	ZONE	SUBTYPE	TermStart	TermEnd	YearM	Mwhs	MwhFee	Gross Revenue	Rate	NetPayout			
Cu	istomer	PEX	CO LLC											
	istomer summai ital	γ = KBS II 10	00-200 CAMP	US DR LLC (1	.0 detail red	cords)	9,819		\$29,455.60		\$27,982.82			
				,,	·-,,		,	, - · <del></del>			\$27,982.82			
	1-335BUN	JCPL		01/01/12	, ,		1,182.64390	\$3.00	\$3,547.93	5.00%	\$3,370.54			
	1-335BUN	JCPL		01/01/12			947.92800	\$3.00	\$2,843.78	5.00%	\$2,701.59			
	1-335BUN	JCPL		01/01/12			1,001.52020	\$3.00	\$3,004.56	5.00%	\$2,854.33			
	1-335BUN	JCPL		01/01/12	, ,		895.59480	\$3.00	\$2,686.78	5.00%	\$2,552.45			
	1-335BUN	JCPL		01/01/12	, .		969.10330	\$3.00	\$2,907.31	5.00%	\$2,761.94			
	1-335BUN	JCPL		01/01/12			1,132.30370	\$3.00	\$3,396.91	5.00%	\$3,227.07			
	1-335BUN	JCPL		01/01/12			943.99230	\$3.00	\$2,737.20	5.00%	\$2,600.34			
	1-335BUN 1-335BUN	JCPL		01/01/12			912.40020	\$3.00 \$3.00	\$2,565.02	5.00%	\$2,436.77 \$2,600.34			
	1-335BUN 1-335BUN	JCPL JCPL		01/01/12	• •		978.03950 855.00820	\$3.00	\$2,934.12 \$2,565.02	5.00%	\$2,787.41			
	AgreeNum	ZONE	SUBTYPE	TermStart			Mwhs	MwhFee	Gross Revenue	Rate	NetPayout			
Cu	stomer		II 100-200 C/											
	otal			·		·	7,252		\$11,681.00		\$11,096.95			
Cı	Customer summary = HEALTHSOUTH CORPORATION (35 detail records)													
	1-32ELUE	DPL		07/01/12	06/30/13	Z0130P	149.30840	\$2.00	\$298.62	5.00% -	\$283.69 			
	1-32ELUE	DPL		07/01/12	06/30/13		154.02160	\$2.00	\$308.04	5.00%	\$292.64			
				07/01/12			138.75760	\$2.00	\$277.52	5.00%	\$263.64			
	1-32ELUE 1-32ELUE	DPL DPL		07/01/12	• •		116.23270	\$2.00	\$232.47	5.00%	\$220.84			
				07/01/12			97.21371	\$2.00	\$194.43	5.00%	\$184.71			
	1-32ELUE	DPL		07/01/12			100.19280	\$2.00	\$200.39	5.00%	\$190.37			
	1-32ELUE	DPL					100.38740	·	\$200.77	5.00%	\$190.74			
	1-32ELUE	DPL		07/01/12	06/30/13	201212	1በስ 387ላስ	\$2.00	\$200.77	E 00%	¢100.74			

1-35QEIZ	PECO	12/01/12	11/30/13	201301	205.04210	\$1.75	\$358.82	5.00%	\$340.88
1-35QEIZ	PECO	12/01/12	11/30/13	201302	186.24690	\$1.75	\$325.93	5.00%	\$309.64
1-35QEIZ	PECO	12/01/12	11/30/13	201303	188.95820	\$1.75	\$330.68	5.00%	\$314.14
1-35QEIZ	PECO	12/01/12	11/30/13	201304	190.14780	\$1.75	\$332.76	5.00%	\$316.12
1-35QEIZ	PECO	12/01/12	11/30/13	201305	199.00600	\$1.75	\$348.26	5.00%	\$330.85
1-35QEIZ	PECO	12/01/12	11/30/13	201306	165.73640	\$1.75	\$290.04	5.00%	\$275.54
1-35QEIZ	PECO	12/01/12	11/30/13	201307	185:01110	\$1.75	\$323.77	5.00%	\$307.58
1-35QEIZ	PECO	12/01/12	11/30/13	201308	165,99040	\$1.75	\$290.48	5.00%	\$275.96
1-35QEIZ	PECO	12/01/12	11/30/13	201309	151.47320	\$1.75	\$265.08	5.00%	\$251.82
1-35QEIZ	PECO	12/01/12	11/30/13	201310	185.58850	\$1.75	\$324.78	5.00%	\$308.54
1-35QEIZ	PECO	12/01/12	11/30/13	201311	149.15990	\$1.75	\$261.03	5.00%	\$247.98
									\$3,465.90
1-35QG15	COMED	04/01/12	11/30/13	201204	636.67390	\$1.75	\$1,114.18	5.00%	\$1,058.47
1-35QG15	COMED	04/01/12	11/30/13	201205	661.15120	\$1.75	\$1,157.01	5.00%	\$1,099.16
1-35QG15	COMED	04/01/12	11/30/13	201206	569.08150	\$1.75	\$995.89	5.00%	\$946.10
1-35QG15	COMED	04/01/12	11/30/13	201207	557.30310	\$1.75	\$975.28	5.00%	\$926.52
1-35QG15	COMED	04/01/12	11/30/13	201208	697.33440	\$1.75	\$1,220.34	5.00%	\$1,159.32
1-35QG15	COMED	04/01/12	11/30/13	201209	612.67770	\$1.75	\$1,072.19	5.00%	\$1,018.58
1-35QG15	COMED	04/01/12	11/30/13	201210	460.13820	\$1.75	\$805.24	5.00%	\$764.98
1-35QG15	COMED	04/01/12	11/30/13	201211	399.68050	\$1.75	\$69 <del>9</del> .44	5.00%	\$664.47
1-35QG15	COMED	04/01/12	11/30/13	201212	468.99500	\$1.75	\$820.74	5.00%	\$779.70
1-35QG15	COMED	04/01/12	11/30/13	201301	591.69750	\$1.75	\$1,035.47	5.00%	\$983.70
1-35QG15	COMED	04/01/12	11/30/13	201302	591.58900	\$1.75	\$1,035.28	5.00%	\$983.52
1-35QG15	COMED	04/01/12	11/30/13	201303	704.67290	\$1.75	\$1,233.18	5.00%	\$1,171.52
1-35QG15	COMED	04/01/12	11/30/13	201304	636.48830	\$1.75	\$1,113.85	5.00%	\$1,058.16
1-35QG15	COMED	04/01/12	11/30/13	201305	664.71270	\$1.75	\$1,163.25	5.00%	\$1,105.08
1-35QG15	COMED	04/01/12	11/30/13	201306	549.52700	\$1.75	\$961.67	5.00%	\$913.59
1-35QG15	COMED	04/01/12	11/30/13	201307	538.91360	\$1.75	\$943.10	5.00%	\$895.94

1-35QG15	COMED	(	04/01/12	11/30/13	201308	716.39370	\$1.75	\$1,253.69	5.00%	\$1,191.00
1-35QG15	COMED	(	04/01/12	11/30/13	201309	606.38910	\$1.75	\$1,061.18	5.00%	\$1,008.12
1-35QG15	COMED	(	04/01/12	11/30/13	201310	465.70010	\$1.75	\$814.98	5.00%	\$774.23
1-35QG15	COMED	(	04/01/12	11/30/13	201311	396.78770	\$1.75	\$694.38	5.00%	\$659.66
										\$19,161.82
Customer summa	ry = PEXCO LL	C (32 detail re	cords)					ÁDD 040 55		Ann can an
Total						13,611		\$23,818.65		\$22,627.72
Customer	RADIO	SHACK CORP	ORATION							
AgreeNum	ZONE	SUBTYPE TO	ermStart	TermEnd	YearM	Mwhs	MwhFee	Gross Revenue	Rate	NetPayout
1-32AMBZ	н	C	05/01/12	04/30/14	201205	10.79180	\$2.00	\$21.58	5.00%	\$20.50
1-32AMBZ	Н	C	05/01/12	04/30/14	201206	14.07771	\$2.00	\$28.16	5.00%	\$26.75
1-32AMBZ	Н	(	05/01/12	04/30/14	201207	15.74894	\$2.00	\$31.50	5.00%	\$29.92
1-32AMBZ	н	C	05/01/12	04/30/14	201208	14.71592	\$2.00	\$29.43	5.00%	\$27.96
1-32AMBZ	н	C	05/01/12	04/30/14	201209	11.66099	\$2.00	\$23.32	5.00%	\$22.16
1-32AMBZ	н	C	05/01/12	04/30/14	201210	9.47944	\$2.00	\$18.96	5.00%	\$18.01
1-32AMBZ	н	(	05/01/12	04/30/14	201211	8.61929	\$2.00	\$17.24	5.00%	\$16.38
1-32AMBZ	Н	(	05/01/12	04/30/14	201212	9.75060	\$2.00	\$19.50	5.00%	\$18.53
1-32AMBZ	н	C	05/01/12	04/30/14	201301	9.41954	\$2.00	\$18.84	5.00%	\$17.90
1-32AMBZ	Н	C	05/01/12	04/30/14	201302	8.22166	\$2.00	\$16.44	5.00%	\$15.62
1-32AMBZ	Н	(	05/01/12	04/30/14	201303	8.63228	\$2.00	\$17.26	5.00%	\$16.40
1-32AMBZ	Н	C	05/01/12	04/30/14	201304	8.36083	\$2.00	\$16.72	5.00%	\$15.89
1-32AMBZ	Н	C	05/01/12	04/30/14	201305	10.79180	\$2.00	\$21.58	5.00%	\$20.50
1-32AMBZ	Н	(	05/01/12	04/30/14	201306	14.07771	\$2.00	\$28.16	5.00%	\$26.75
1-32AMBZ	Н	(	05/01/12	04/30/14	201307	15.74894	\$2.00	\$31.50	5.00%	\$29.92
1-32AMBZ	Н	(	05/01/12	04/30/14	201308	14.71592	\$2.00	\$29.43	5.00%	\$27.96
1-32AMBZ	Н	(	05/01/12	04/30/14	201309	11.66099	\$2.00	\$23.32	5.00%	\$22.16
1-32AMBZ	Н	(	05/01/12	04/30/14	201310	9.47944	\$2.00	\$18.96	5.00%	\$18.01
1-32AMBZ	н	(	05/01/12	04/30/14	201311	8.61929	\$2.00	\$17.24	5.00%	\$16.38

1-32AMBZ	н	05/01/12	04/30/14	201312	9.75060	\$2.00	\$19.50	5.00%	\$18.53
1-32AMBZ	Н	05/01/12	04/30/14	201401	9.41954	\$2.00	\$18.84	5.00%	\$17.90
1-32AMBZ	н	05/01/12	04/30/14	201402	8.22166	\$2.00	\$16.44	5.00%	\$15.62
1-32AMBZ	Н	05/01/12	04/30/14	201403	8.63228	\$2.00	\$17.26	5.00%	\$16.40
1-32AMBZ	Н	05/01/12	04/30/14	201404	8.36083	\$2.00	\$16.72	5.00%	\$15.89
1-32AMBZ	1	05/01/12	04/30/14	201205	59.24327	\$2.00	\$118.49	5.00%	\$112.56
1-32AMBZ	1	05/01/12	04/30/14	201206	71.16648	\$2.00	\$142.33	5.00%	\$135.22
1-32AMBZ	t	05/01/12	04/30/14	201207	83.20656	\$2.00	\$166.41	5.00%	\$158.09
1-32AMBZ	1	05/01/12	04/30/14	201208	77.43118	\$2.00	\$154.86	5.00%	\$147.12
1-32AMBZ	ı	05/01/12	04/30/14	201209	64.96675	\$2.00	\$129.93	5.00%	\$123.44
1-32AMBZ	l	05/01/12	04/30/14	201210	52.64595	\$2.00	\$105.29	5.00%	\$100.03
1-32AMBZ	I	05/01/12	04/30/14	201211	44.11358	\$2.00	\$88.23	5.00%	\$83.82
1-32AMBZ	1	05/01/12	04/30/14	201212	49.15738	\$2.00	\$98.31	5.00%	\$93.40
1-32AMBZ	1	05/01/12	04/30/14	201301	46.99484	\$2.00	\$93.99	5.00%	\$89.29
1-32AMBZ	1	05/01/12	04/30/14	201302	42.06811	\$2.00	\$84.14	5.00%	\$79.93
1-32AMBZ	I	05/01/12	04/30/14	201303	46.11407	\$2.00	\$92.23	5.00%	\$87.62
1-32AMBZ	I	05/01/12	04/30/14	201304	46.93486	\$2.00	\$93.87	5. <b>00</b> %	\$89.18
1-32AMBZ	1	05/01/12	04/30/14	201305	59.24327	\$2.00	\$118.49	5.00%	\$112.56
1-32AMBZ	I	05/01/12	04/30/14	201306	71.16648	\$2.00	\$142.33	5.00%	\$135.22
1-32AMBZ	1	05/01/12	04/30/14	201307	83.20656	\$2.00	\$166.41	5.00%	\$158.09
1-32AMBZ	i	05/01/12	04/30/14	201308	77.43118	\$2.00	\$154.86	5.00%	\$147.12
1-32AMBZ	ì	05/01/12	04/30/14	201309	64.96675	\$2.00	\$129.93	5.00%	\$123.44
1-32AMBZ	ţ	05/01/12	04/30/14	201310	52.64595	\$2.00	\$105.29	5.00%	\$100.03
1-32AMBZ	1	05/01/12	04/30/14	201311	44.11358	\$2.00	\$88.23	5.00%	\$83.82
1-32AMBZ	1	05/01/12	04/30/14	201312	49.15738	\$2.00	\$98.31	5.00%	\$93.40
1-32AMBZ	I	05/01/12	04/30/14	201401	46.99484	\$2.00	\$93.99	5.00%	\$89.29
1-32AMBZ	1	05/01/12	04/30/14	201402	42.06811	\$2.00	\$84.14	5.00%	\$79.93
1-32AMBZ	1	05/01/12	04/30/14	201403	46.11407	\$2.00	\$92.23	5.00%	\$87.62

1-32AMBZ	1	05/01/12	04/30/14	201404	46.93486	\$2.00	\$93.87	5.00%	\$89.18
1-32AMBZ	J	05/01/12	04/30/14	201205	488.33908	\$2.00	\$976.68	5.00%	\$927.84
1-32AMBZ	J	05/01/12	04/30/14	201206	593.16811	\$2.00	\$1,186.34	5.00%	\$1,127.02
1-32AMBZ	J	05/01/12	04/30/14	201207	675.40739	\$2.00	\$1,350.81	5.00%	\$1,283.27
1-32AMBZ	1	05/01/12	04/30/14	201208	641.53506	\$2.00	\$1,283.07	5.00%	\$1,218.92
1-32AMBZ	ı	05/01/12	04/30/14	201209	529.98617	\$2.00	\$1,059.97	5.00%	\$1,006.97
1-32AMBZ	J	05/01/12	04/30/14	201210	433.78332	\$2.00	\$867.57	5.00%	\$824.19
1-32AMBZ	J	05/01/12	04/30/14	201211	405.29382	\$2.00	\$810.59	5.00%	\$770.06
1-32AMBZ	ı	05/01/12	04/30/14	201212	507.56807	\$2.00	\$1,015.14	5.00%	\$964.38
1-32AMBZ	J	05/01/12	04/30/14	201301	550.42129	\$2.00	\$1,100.84	5.00%	\$1,045.80
1-32AMBZ	J	05/01/12	04/30/14	201302	462.99745	\$2.00	\$925.99	5.00%	\$879.70
1-32AMBZ	1	05/01/12	04/30/14	201303	453.02368	\$2.00	\$906.05	5.00%	\$860.74
1-32AMBZ	1	05/01/12	04/30/14	201304	411.70829	\$2.00	\$823.42	5.00%	\$782.25
1-32AMBZ	J	05/01/12	04/30/14	201305	488.33908	\$2.00	\$976.68	5.00%	\$927.84
1-32AMBZ	J	05/01/12	04/30/14	201306	593.16811	\$2.00	\$1,186.34	5.00%	\$1,127.02
1-32AMBZ	J	05/01/12	04/30/14	201307	675.40739	\$2.00	\$1,350.81	5.00%	\$1,283.27
1-32AMBZ	1	05/01/12	04/30/14	201308	641.53506	\$2.00	\$1,283.07	5.00%	\$1,218.92
1-32AMBZ	J	05/01/12	04/30/14	201309	529.98617	\$2.00	\$1,059.97	5.00%	\$1,006.97
1-32AMBZ	J	05/01/12	04/30/14	201310	433.78332	\$2.00	\$867.57	5.00%	\$824.19
1-32AMBZ	J	05/01/12	04/30/14	201311	405.29382	\$2.00	\$810.59	5.00%	\$770.06
1-32AMBZ	1	05/01/12	04/30/14	201312	507.56807	\$2.00	\$1,015.14	5.00%	\$964.38
1-32AMBZ	J	05/01/12	04/30/14	201401	550.42129	\$2.00	\$1,100.84	5.00%	\$1,045.80
1-32AMBZ	J	05/01/12	04/30/14	201402	462.99745	\$2.00	\$925.99	5.00%	\$879.70
1-32AMBZ	J	05/01/12	04/30/14	201403	453.02368	\$2.00	\$906.05	5.00%	\$860.74
1-32AMBZ	J	05/01/12	04/30/14	201404	411.70829	\$2.00	\$823.42	5.00%	\$782.25
								_	\$26,473.66
1-32AXBR	COMED	05/01/12	04/30/14	201205	478.97406	\$2.00	\$957.95	5.00%	\$910.05
1-32AXBR	COMED	05/01/12	04/30/14	201206	567.74096	\$2.00	\$1,135.48	5.00%	\$1,078.71

1-32AXI	BR COMED		05/01/12	04/30/1	4 201207	662.97001	\$2.00	\$1,325.94	5.00%	\$1,259.64	
1-32AXI	BR COMED		05/01/12	04/30/1	4 201208	631.53237	\$2.00	\$1,263.06	5.00%	\$1,199.91	
1-32AX	BR COMED		05/01/12	04/30/1	4 201209	502.87209	\$2.00	\$1,005.74	5.00%	\$955.46	
1-32AXE	BR COMED		05/01/12	04/30/1	4 201210	452.59809	\$2.00	\$905.20	5.00%	\$859.94	
1-32AXE	BR COMED		05/01/12	04/30/1	4 201211	426.27835	\$2.00	\$852.56	5.00%	\$809.93	
1-32AXE	BR COMED		05/01/12	04/30/1	4 201212	463.13669	\$2.00	\$926.27	5.00%	\$879.96	
1-32AXE	BR COMED		05/01/12	04/30/1	4 201301	467.42557	\$2.00	\$934.85	5.00%	\$888.11	
1-32AX	BR COMED		05/01/12	04/30/1	4 201302	411.17298	\$2.00	\$822.35	5.00%	\$781.23	
1-32AXE	BR COMED		05/01/12	04/30/1	4 201303	434.26887	\$2.00	\$868.54	5.00%	\$825.11	
1-32AXB	R COMED		05/01/12	04/30/14	4 201304	410.37946	\$2.00	\$820.76	5.00%	\$779.72	
1-32AXB	R COMED		05/01/12	04/30/14	201305	479.10190	\$2.00	\$958.20	5.00%	\$910.29	
1-32AXB	R COMED		05/01/12	04/30/14	201306	567.73595	\$2.00	\$1,135.47	5.00%	\$1,078.70	
1-32AXB	R COMED		05/01/12	04/30/14	201307	662,78863	\$2.00	\$1,325.58	5.00%	\$1,259.30	
1-32AXB	R COMED		05/01/12	04/30/14	201308	631.54074	\$2.00	\$1,263.08	5.00%	\$1,199.93	
1-32AXB	R COMED		05/01/12	04/30/14	201309	502.72740	\$2.00	\$1,005.45	5.00%	\$955.18	
1-32AXB	R COMED		05/01/12	04/30/14	201310	452.58265	\$2.00	\$905.17	5.00%	\$859.91	
1-32AXB	R COMED		05/01/12	04/30/14	201311	426.45101	\$2.00	\$852.90	5.00%	\$810.26	
1-32AXB	R COMED		05/01/12	04/30/14	201312	463.29927	\$2.00	\$926.60	5.00%	\$880.27	
1-32AXB	R COMED		05/01/12	04/30/14	201401	467.49363	\$2.00	\$934.99	5.00%	\$888.24	
1-32AX8	R COMED		05/01/12	04/30/14	201402	410.90694	\$2.00	\$821.81	5.00%	\$780.72	
1-32AXBI	R COMED		05/01/12	04/30/14	201403	434.18921	\$2.00	\$868.38	5.00%	\$824.96	
1-32AXBI	R COMED		05/01/12	04/30/14	201404	410.37122	\$2.00	\$820.74	5.00%	\$779.71	
									-	\$22,455.22	
	nmary = RADIOS	HACK CORPC	RATION (96	detail reco	rds)						
Total						25,752		\$51,504.09		\$48,928.89	
Customer	REN	N ROAD MII	NICIPAL UTIL	PIO YTI							
AgreeNu			TermStart		Voorto	** 1	A.R L		_		
~		JOBITE				Mwhs	MwhFee	Gross Revenue	Rate	NetPayout	
1-31QUD	D HOUSTON		02/01/12	U1/31/14	201203	160.92485	\$4.13	\$564.62	5.00%	\$631.39	

Page 11 of 15

Thursday, March 08, 2012 Page 11 of 15

1-310	QUDD	HOUSTON		02/01/12	01/31/14	201204	143.45625	\$4.13	\$592.47	5.00%	\$562.85
1-310	QUDD	HOUSTON		02/01/12	01/31/14	201205	177.26226	\$4.13	\$732.09	5.00%	\$695.49
1-310	QUDD	HOUSTON		02/01/12	01/31/14	201206	173.80582	\$4.13	\$717.82	5.00%	\$681.93
1-310	ממעכ	HOUSTON		02/01/12	01/31/14	201207	206.89119	\$4.13	\$854.46	5.00%	\$811.74
1-310	QUDD	HOUSTON		02/01/12	01/31/14	201208	203.40361	\$4.13	\$840.06	5.00%	\$798.05
1-310	QUUD	HOUSTON		02/01/12	01/31/14	201209	163.80540	\$4.13	\$676.52	5.00%	\$642.69
1-310	QUDD	HOUSTON		02/01/12	01/31/14	201210	187.66641	\$4.13	\$775.06	5.00%	\$736.31
1-310	QUDD	HOUSTON		02/01/12	01/31/14	201211	153.34295	\$4.13	\$633.31	5.00%	\$601.64
1-310	QUDD	HOUSTON		02/01/12	01/31/14	201212	146.26726	\$4.13	\$604.08	5.00%	\$573.88
1-310	DODD	HOUSTON		02/01/12	01/31/14	201301	147.94006	\$4.13	\$610.99	5.00%	\$580.44
1-310	DODD	HOUSTON		02/01/12	01/31/14	201302	139.81758	\$4.13	\$577.45	5.00%	\$548.57
1-310	QUDD	HOUSTON		02/01/12	01/31/14	201303	160.42645	\$4.13	\$662.56	5.00%	\$629.43
1-310	DODD	HOUSTON		02/01/12	01/31/14	201304	145.90525	\$4.13	\$602.59	5.00%	\$572.46
1-310	QUDD	HOUSTON		02/01/12	01/31/14	201305	176.59826	\$4.13	\$729.35	5.00%	\$692.88
1-310	QUDD	HOUSTON		02/01/12	01/31/14	201306	173.46482	\$4.13	\$716.41	5.00%	\$680.59
1-310	QUDD	HOUSTON		02/01/12	01/31/14	201307	205.00619	\$4.13	\$846.68	5.00%	\$804.34
1-310	QUDD	HOUSTON		02/01/12	01/31/14	201308	203.17491	\$4.13	\$839.11	5.00%	\$797.16
1-310	QUDD	HOUSTON		02/01/12	01/31/14	201309	163.23760	\$4.13	\$674.17	5.00%	\$640.46
1-310	QUDD	HOUSTON		02/01/12	01/31/14	201310	187.29851	\$4.13	\$773.54	5.00%	\$734.87
1-310	QUDD	HOUSTON		02/01/12	01/31/14	201311	152.44895	\$4.13	\$629.61	5.00%	\$598.13
1-310	QUDD	HOUSTON		02/01/12	01/31/14	201312	145.04036	\$4.13	\$599.02	5.00%	\$569.07
1-310	QUDD	HOUSTON		02/01/12	01/31/14	201401	146.87636	\$4.13	\$606.60	5.00%	\$576.27
											\$15,160.64
Customer	summary	y = RENN RO	AD MUNICIPA	AL UTILITY I	DISTRICT (2	3 detail re	•		4.5.050.53		<b></b>
Total							3,864	-	\$15,958.57		\$15,160.64
Customer		STEW	ART & STEVE	NSON POV	VER PR						
Agre	eNum	ZONE	SUBTYPE 1	TermStart	TermEnd	YearM	Mwhs	MwhFee	Gross Revenue	Rate	NetPayout
1-31\	WH5X	NORTH		01/01/12	12/31/12	201203	31.70146	\$2.30	\$72.91	5.00%	\$69.27

1-3	31WH5X	NORTH		01/01/12	12/31/12	201204	33.10243	\$2.30	\$76.14	5.00%	\$72.33	
1-3	31WH5X	NORTH		01/01/12	12/31/12	201205	39.57284	\$2.30	\$91.02	5.00%	\$86.47	
1-3	31WH5X	NORTH		01/01/12	12/31/12	201206	47.00577	\$2.30	\$108.11	5.00%	\$102.71	
1-3	31WH5X	NORTH		01/01/12	12/31/12	201207	55.86616	\$2.30	\$128.49	5.00%	\$122.07	
1-3	31WH5X	NORTH		01/01/12	12/31/12	201208	55.39151	\$2.30	\$127.40	5.00%	\$121.03	
1-3	B1WH5X	NORTH		01/01/12	12/31/12	201209	45.47620	\$2.30	\$104.60	5.00%	\$99.37	
1-3	31WH5X	NORTH		01/01/12	12/31/12	201210	35.62113	\$2.30	\$81.93	5.00%	\$77.83	
1-3	B1WH5X	NORTH		01/01/12	12/31/12	201211	29.03450	\$2.30	\$66.78	5.00%	\$63.44	
1-3	B1WH5X	NORTH		01/01/12	12/31/12	201212	31.34696	\$2.30	\$72.10	5.00%	\$68.49	
											\$883.00	
1-3	37KD9D	NORTH		02/01/12	12/31/12	201203	271.04371	\$3.00	\$813.13	5.00%	\$772.47	
1-3	37KD9D	NORTH		02/01/12	12/31/12	201204	275.56361	\$3.00	\$826.69	5.00%	\$785.36	
1-3	37KD9D	NORTH		02/01/12	12/31/12	201205	321.28670	\$3.00	\$963.86	5.00%	\$915.67	
1-3	37KD9D	NORTH		02/01/12	12/31/12	201206	359.52742	\$3.00	\$1,078.58	5.00%	\$1,024.65	
1-3	37KD9D	NORTH		02/01/12	12/31/12	201207	389.22299	\$3.00	\$1,167.67	5.00%	\$1,109.29	
1-3	37KD9D	NORTH		02/01/12	12/31/12	201208	398.02216	\$3.00	\$1,194.07	5.00%	\$1,134.36	
1-3	37KD9D	NORTH		02/01/12	12/31/12	201209	375.27330	\$3.00	\$1,125.82	5.00%	\$1,069.53	
1-3	37KD9D	NORTH		02/01/12	12/31/12	201210	329.38402	\$3.00	\$988.15	5.00%	\$938.74	
1-3	37KD9D	NORTH		02/01/12	12/31/12	201211	271.10814	\$3.00	\$813,32	5.00%	\$772.66	
1-3	37KD9D	NORTH		02/01/12	12/31/12	201212	268.22928	\$3.00	\$804.69	5.00%	\$764.45	
										_	\$9,287.18	
Custom	er summan	y = STEWAR	RT & STEVENSO	ON POWER	PRODUCTS	LLC (20 d	etail records)					
Total							3,663		\$10,705.46		\$10,170.18	
Cushaan		fun	CICAL CADE A	FCUIATEC I								
Custom Ag	reeNum	ZONE	GICAL CARE A SUBTYPE	•		YearM	Mwhs	MwhFee	Gross Revenue	Rate	NetPayout	
_	30N36T	PPL	JODINE	01/01/12			13.95882	\$3.00	\$41.88	5.00%	\$39.78	
	30N36T	PPL		01/01/12	. ,		13.44252	\$3.00	\$40.33	5.00%	\$38.31	
	30N36T	PPL		01/01/12	, ,		12.86273	\$3.00	\$38.59	5.00%	\$36.66	
				,,	,,			+00	Ç	J. <b>JU</b> /4	400.00	

1-30N36T	PPL	01/01/12	12/31/12	201206	12.62664	\$3.00	\$37.88	5.00%	\$35.99
1-30N36T	PPL	01/01/12	12/31/12	201207	13:08358	\$3.00	\$39.25	5.00%	\$37.29
1-30N36T	PPL	01/01/12	12/31/12	201208	13.26094	\$3.00	\$39.78	5.00%	\$37.79
1-30N36T	PPL	01/01/12	12/31/12	201209	13.52138	\$3.00	\$40.56	5.00%	\$38.54
1-30N36T	PPL	01/01/12	12/31/12	201210	15.32961	\$3.00	\$45.99	5.00%	\$43.69
1-30N36T	PPL	01/01/12	12/31/12	201211	14.29598	\$3.00	\$42.89	5.00%	\$40.74
1-30N36T	PPL	01/01/12	12/31/12	201212	14.45686	\$3.00	\$43.37	5.00%	\$41.20
									\$389.99
1-30N38U	PECO	01/01/12	12/31/12	201203	42.61066	\$3.00	\$127.83	5.00%	\$121.44
1-30N38U	PECO	01/01/12	12/31/12	201204	39.53887	\$3.00	\$118.62	5.00%	\$112.69
1-30N38U	PECO	01/01/12	12/31/12	201205	44.41277	\$3.00	\$133.24	5.00%	\$126.58
1-30N38U	PECO	01/01/12	12/31/12	201206	49.18694	\$3.00	\$147.56	5.00%	\$140.18
1-30N38U	PECO	01/01/12	12/31/12	201207	49.34043	\$3.00	\$148.02	5.00%	\$140.62
1-30N38U	PECO	01/01/12	12/31/12	201208	51.95419	\$3.00	\$155.86	5.00%	\$148.07
1-30N38U	PECO	01/01/12	12/31/12	201209	41.29433	\$3.00	\$123.88	5.00%	\$117.69
1-30N38U	PECO	01/01/12	12/31/12	201210	37.92885	\$3.00	\$113.79	5.00%	\$108.10
1-30N38U	PECO	01/01/12	12/31/12	201211	33.56565	\$3.00	\$100.70	5.00%	\$95.66
1-30N38U	PECO	01/01/12	12/31/12	201212	43.27658	\$3.00	\$129.83	5.00%	\$123.34
									\$1,234.36
1-30N397	APSPA	01/01/12	12/31/12	201203	31.90941	\$3.00	\$95.73	5.00%	\$90.94
1-30N397	APSPA	01/01/12	12/31/12	201204	34.27181	\$3.00	\$102.82	5.00%	\$97.67
1-30N397	APSPA	01/01/12	12/31/12	201205	40.00635	\$3.00	\$120.02	5.00%	\$114.02
1-30N397	APSPA	01/01/12	12/31/12	201206	47.31812	\$3.00	\$141.95	5.00%	\$134.86
1-30N397	APSPA	01/01/12	12/31/12	201207	53.18554	\$3.00	\$159.56	5.00%	\$151.58
1-30N397	APSPA	01/01/12	12/31/12	201208	49.98370	\$3.00	\$149.95	5. <b>0</b> 0%	\$142.45
1-30N397	APSPA	01/01/12	12/31/12	201209	47.57584	\$3.00	\$142.73	5.00%	\$135.59
1-30N397	APSPA	01/01/12	12/31/12	201210	35.76333	\$3.00	\$107.29	5.00%	\$101. <b>9</b> 3
1-30N397	APSPA	01/01/12	12/31/12	201211	30.26037	\$3.00	\$90.78	5.00%	\$86.24

1-30N397	APSPA	01/01/12	12/31/12 201212	29.08596	\$3.00	\$87.26	5.00%	\$82.89
							_	\$1,138.18
Customer summ	ary = SURGICAL (	CARE AFFILIATES, LLC (	30 detail records)					
Total				969		\$2,907.93		\$2,762.53
Broker summary = ACC	CLAIM ENERGY LT	D (335 detail records)				A174 COO 77		
Grand Total				84,626		\$171,600.77		\$163,020.73

Thursday, March 08, 2012 Page 15 of 15

From: (713) 636-1607

Naveen Rabie SUEZ Energy North America 1990 Post Oak Blvd, Suite 1900

Houston, TX 77056

Origin ID: HOUA



J12101112190

Delivery Add

SHIP TO: (713) 636-1607

BILL SENDER

Attn: James Mcnulty, Secretary

Penn. PUC 400 NORTH ST

HARRISBURG, PA 17120

Ship Date: 09MAR12 ActWgt: 1.0 LB CAD: 3028311/INET3250

Delivery Address Bar Code



Ref# Invoice# PO#

PO# Dept#

TUE - 13 MAR A1
\*\* 2DAY \*\*

TRK# 0201 7933 2283 3070

SH MDTA

17120 PA-US

MDT



After printing this label:

Use the 'Print' button on this page to print your label to your laser or inkjet printer.

2. Fold the printed page along the horizontal line.

3. Place label in shipping pouch and affix it to your shipment so that the barcode portion of the label can be read and scanned.

Warning: Use only the printed original label for shipping. Using a photocopy of this label for shipping purposes is fraudulent and could result in additional billing charges, along with the cancellation of your FedEx account number.

Use of this system constitutes your agreement to the service conditions in the current FedEx Service Guide, available on fedex.com.FedEx will not be responsible for any claim in excess of \$100 per package, whether the result of loss, damage, delay, non-delivery,misdelivery,or misinformation, unless you declare a higher value, pay an additional charge, document your actual loss and file a timely claim.Limitations found in the current FedEx Service Guide apply. Your right to recover from FedEx for any loss, including intrinsic value of the package, loss of sales, income interest, profit, attorney's fees, costs, and other forms of damage whether direct, incidental, consequential, or special is limited to the greater of \$100 or the authorized declared value. Recovery cannot exceed actual documented loss.Maximum for items of extraordinary value is \$500, e.g. jewelry, precious metals, negotiable instruments and other items listed in our ServiceGuide. Written claims must be filed within strict time limits, see current FedEx Service Guide.

RECEIVED

MAR 1 3 2012

PA PUBLIC UTILITY COMMISSION SECRETARY'S BUREAU